ESARA

Japanese Technology since 1912

3 SERIES Data Book 50Hz




CENTRIFUGAL PUMPS

3 SERIES

CONTENTS

50Hz

- SPECIFICATION

SPECIFICATION
SPECIFICATION
SPECIFICATION
PERFORMANCE RANGE
SELECTION CHART
TYPE KEY

PERFORMANCE CURVE SPECIFICATIONS

MEI INDEX SPECIFICATIONS
MEI INDEX VALUE
PERFORMANCE CURVE 32-125
PERFORMANCE CURVE 32-160
PERFORMANCE CURVE 32-200
PERFORMANCE CURVE 40-125
PERFORMANCE CURVE 40-160
PERFORMANCE CURVE 40-200
PERFORMANCE CURVE 50-125
PERFORMANCE CURVE 50-160
PERFORMANCE CURVE 50-200
PERFORMANCE CURVE 65-125
PERFORMANCE CURVE 65-160
PERFORMANCE CURVE 65-200
PERFORMANCE CURVE 65-250
PERFORMANCE CURVE 80-160
PERFORMANCE CURVE 80-200
PERFORMANCE CURVE 80-250

- CONSTRUCTION
SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LM 80-160/11

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5
SECTIONAL VIEW TABLE 3LM 80-160

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200

SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5
50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2

SECTIONAL VIEW DRAWING 3LSZ 40-200/11,

50-200/11/15, 65-160/11/15, 62-200

SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LS 80-160

SECTIONAL VIEW TABLE 3LS 80-160

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250

Rev. AH

Page

200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224

300
301
302
303
304
305
306
307
308
309

310

311
312
313
314
315

100

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONTENTS 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250 316
SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200 317
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200 318
SECTIONAL VIEW DRAWING 3LP 80-160 319
SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250 320
SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250 321
SECTIONAL VIEW TABLE 3LP 80-160 322
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250 323
BEARINGS 3(.)M 324
BEARINGS 3(.)S-3(.)P 325
MECHANICAL SEAL (standard, H and special version) 326
MECHANICAL SEAL (L version g 22) 327
MECHANICAL SEAL (L version g 30-35) 328
MECHANICAL SEAL (HS version and special version g 22) 329
MECHANICAL SEAL (HS version @ 30) 330
MECHANICAL SEAL (HW, HSW, E and special version) 331
MECHANICAL SEAL (ES version) 332
FLUID TEMPERATURE RANGE 333
COUPLING 334
FLEXIBLE COUPLING 335
FITTINGS 336
FITTINGS 337
- DIMENSIONS

DIMENSIONS 3(.)M 32, 40, 50, 65-125/160 400
DIMENSIONS 3(.)M 50-200, 65-160/15, 65-200 401
DIMENSIONS 3LMZ 32, 40, 50-125/160/200/9.2/11,
65-125/160/7.5/9.2/11 402
DIMENSIONS 3LMZ 50-200/15, 65-160/15, 65-200 403
DIMENSIONS 3LM 80-160/11 404
DIMENSIONS 3LM 80-160/15R/15/18.5 405
DIMENSIONS 3(.)S 32, 40, 50 406
DIMENSIONS 3(.)S 32, 65 407
DIMENSIONS 3(.)S 40, 50, 65 408
DIMENSIONS 3(.)S 32, 40, 50, 65 409
DIMENSIONS 3LSZ 32-125/160, 32-200/3/4,

50-125/2.2, 65-125/4 410

DIMENSIONS 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5,
50-125/3/4, 50-160 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2 411
DIMENSIONS 3LSZ 40-200/11, 50-20011/15,

65-160/11/15, 65-200 412
DIMENSIONS 3LS 80-160 413
DIMENSIONS 3LS 65-250, 80-200/250 414
DIMENSIONS 3LS 80-200/30/37, 80-250/45 415
DIMENSIONS 3LS 80-250/55 416
DIMENSIONS 3(.)P 32, 40, 50, 65 417
DIMENSIONS TABLE 3(.)P 32, 40, 50, 65 418
DIMENSIONS 3LP 65-250,80 419

101

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONTENTS 50Hz
Rev. AH
DIMENSIONS 3LP 80-200/30/37, 80-250/45 420
DIMENSIONS 3LP 80-250/55 421
PACKING 3(.)M 422
PACKING 3(.)S 423
PACKING 3(.)P 424
- TECHNICAL DATA
MOTOR DATA 3(.)M 500
MOTOR DATA 3(.)S-3(.)P 501
NOISE DATA 3(.)M 502
NOISE DATA 3(.)S-3(.)P 503
102

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

50Hz

Rev. AH

Version

w
=

w
»

w
e

3LM

3LMZ 3LS 3LSZ 3LP

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

Pump sizes

50-200

65-125

65-160

65-200

SISO T IO (T (O T (OO
SISO T O (T[T (OO

65-250

80-160

80-200

80-250

A ZX AN I AN AN BN BN AN BN BN AN BN AN AN )
A X AN I AN AN BN BN AN BN BN AN BN AN AN )

B Available also with H, HS, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3CEGG version.

U3U3EGG not available for model 65-160/15 and 65-200

® Available also with H, HW, HSW, E, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG, U3U3EGG version.

U3U3EGG available for model 32, 40, 50, 65-125 and 65-160/7.5/9.2/11

A Available also with H, HW, HSW, ES, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG version.

=— Not available.

O Available only standard version.

200

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION

50Hz

Rev. AH
PUMP
Version 3M 38 3P [ 3Lm@) 3LS(2) | 3LP
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains glycol
Liquid for E and ES version
Handled min. -10
Temperature [°C] max. +120
For full details see section “FLUID TEMPERATURE RANGE” on pag.333
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 version
Impeller Reinforced laser welding for 40-200/11, 50-200/15
. Closed centrifugal three dimensional blades for 65 and 80 version
Construction - - - -
. Mechanical seal with stationary ring
Shaft seal type Mechanical seal ) .
secured against rotation
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according EN1092-1 Standard
40-125/160/200 .
Suction 50-125/160/200 Flange DN65 according EN1092-1 Standard
65-125/160/200/250 Flange DN80 according EN1092-1 Standard
Pipe 80-160/200/250 Flange DN100 according EN1092-1 Standard
Connection 32-125/160/200 Flange DN32 according EN1092-1 Standard
40-125/160/200 Flange DN40 according EN1092-1 Standard
Discharge 50-125/160/200 Flange DN50 according EN1092-1 Standard
65-125/160/200/250 Flange DN65 according EN1092-1 Standard
80-160/200/250 Flange DN80 according EN1092-1 Standard
32-125/160/200
40-125/160/200
Cosi 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| I 50-125/160/200
mpeter 65-125/160/200 CF8M - EN 1.4408 (AISI 316)
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200
40-125/160/200
Cosi 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
asing cover 65-125/160/200
65-250
80-160/200/250 / CF8M - EN 1.4408 (AISI 316)
32-125/160/200 .
Material 20-125/160/200 Ceramic/Carbon/NBR - _
SiC/SiC/FPM (L version)
Mechanical seal ggjggﬂggggg (For version see page 327+333)
echanical sea (For version see page 327+333)
65-250
80-160/200 /
80-250 SiC/Carbon/EPDM (ES version) [2]
O-ring NBR [1] FPM _[3]
32, 40, 50,
65-125 d=19
65-160/11
50-200/15 =22 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-160/15 _
Shart 65-200 d=24
65-250 d=24 EN 1.4462 (Duplex stainless steel)
80-160 d=24
80200122 a=24 / EN 1.4404 (AISI 316L)
80-200/30-37 d=24 .
80250 4=29 EN 1.4462 (Duplex stainless steel)
Bracket Cast iron - Aluminium

Applicable standard of test

1SO 9906:2012 — Grade 3B

[1] FPM for H-HS-HW-HSW version / EPDM for Q1AEGG,

[2] ES option only for 80-250 2 poles @35
[3] EPDM for E-ES version and for Q1AEGG, U3U3EGG, Q1Q1EGG, Q1U3EGG, U3SCEGG

U3U3EGG, Q1Q1EGG, Q1U3EGG, U3EGG

201

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

SPECIFICATION 50Hz
Rev. AH
MOTOR
3OM@) | 3()S(2) | 3()P
Type Electric - TEFC
Single Phase Three Phase

Efficiency level (Reg. 1781/2019) IE2 IE3
No. of Poles 2
Rotation speed [min"] ~ 2900
Insulation Class F | F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 1.1+2.2 1.1+22 1.1 +55

[HP] 1.5+3.0 1.5+30 1.5+75
Frequency [HZ] 50

230/400 £10% (up to 4.0 kW
Voltage V] 230 +10% 400/690 +10% (5.é KW and abo)ve)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
PG13.5 M32x1.5

Dimensions of cable entry M20x1.5 Eg;? mggﬂ g

M20x1.5, M25x1.5

Flange mount (IEC motor)

3(.)S IMB5 (up to 2.2 kW)
IMB35 (3 kW and above) | IM B3
3LSZ IM B35

202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 50Hz

Rev. AH

PERFORMANCE RANGE

US.gpm. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
1 1 N S N N R N [ T L 1
x x T T T T T T T T 1 T T 1 T 1 x
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
120
- 350
100
- 300
~ é’
65-250,/37 [T &
H 80 L Y I /55 %250 H
65-250/30 T TR
[m] ERyyaaet 1NN e ~- NN [ft]
o0 | | \O/\5f il ™~ \0\\\2\00/ 77\7 50\200/ 65 Iéb\éf 20
~ g [ | /5 ., > 0
50 PRy L [ 2 Nl s 2025 NI /J)\\
2-200/4,0 ~( I 27N ‘\2057;5&5\\ o) \/ ‘\200//55 L N N\ | 150
o e L S 5o NN
~200/3, 40\20 7 } ‘U%\ 775 0\20 Se 9%\
S 0/55 ~ H 2 IS O N 1 /giéi/gé‘
92-160/2. } ‘ SN, N
A Sur SN SN D NEN ] 100
3 T COPYSE SRR ST in D NEOh Sa NS
1 . g NININS NN
3o Sy N 5h /AN N7 V.
160/1 5 | ONT N INT O
w : = 1 ifé 9 2NS
F S R EN 2 TN N 75
I ——— ' 5’0\/6 / < N /6‘0/\\‘ NEAY ANAS
20 2 NG, IZON SRERFION A %\\6
~125/11 T N N 0\/9 -0‘ \ u%\d‘ NV N\ |
S ~ 22X N AN N BIAN
N N AT /EAN “Z N, > >\ 2\P\ 50
15 h ‘\\ V \\ < \_3\/ ,/.) \é'a \
( N QEEAN NN 2\
\ &) \\ﬁ EAN \ / =V 40
/ I BN SN BN
1 / NS B\ 2 2\
{ 5\ 2 IEAN f / — 30
8 \ \/ /
25
7
[
6 / / / f 20
; / / / / /
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 ~ 2000 2500 3000 4000 5000
Q [I/min]
T T T T T T T T 1 x U x I x |
6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 200 300
Q [m /h]

203

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

SELECTION CHART 50Hz

Rev. AH

SELECTION CHART

3 SERIES: 32, 40, 50 Version

Pump type I/min 0 | 100 | 150 | 200 | 300 | 333 | 360 400 450 500 600 700 800 | 1000 | 1200
m*h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72
32-125/1.1(M) * 225 21 199|184 | 141 12 - - - - - - - - -
32-160/1.5(M) * 29.5| 28 | 265|245 19.2 17 - - - - - - - - -
32-160/2.2(M) * 37/ 355 | 34 32 27 25 - - - - - - - - -
32-200/3.0 44| 42 40 | 375 3 28 - - - - - - - - -
32-200/4.0 55| 53.5| 52 | 49.5| 435 | 405 38 - - - - - - - -
32-200/5.5 70.5| 69 | 675 65 | 585 - - - - - - - - - -
32-200/7.5 70.5| 69 | 675 65 | 585 | 55.5 53 49 44 - - - - - -
40-125/1.5(M) * 20 - - 19 17.6 17 165 | 157 | 145 | 132 | 103 7 - - -
40-125/2.2(M) * 26.5| - - | 255 24 | 235| 23 22 21 195 | 164 13 - - -
40-160/3.0 31 - - | 295| 275 | 27 | 265 | 255 24 22.5 20 17 - - -
40-160/4.0 40| - - | 3885] 37 36 355 | 345 33 32 29 255 - - -
40-200/5.5 47| - - | 455 44 43 | 425 41 39.5 38 35 31 - - -
40-200/7.5 58| - - 57 | 55.5 55 54.5 | 53.5 | 525 51 47.5 44 - - -
40-200/11 72| - - 71 70 70 | 69.5 | 685 | 67.5 66 63 59 - - -
50-125/2.2(M) * 19 - - - - - - 17.5 17 16.3 | 149 | 134 | 117 8 -
50-125/3.0 22,7 - - - - - - 21,7 | 214 21 19,9 | 185 | 169 | 13,3 9,5
50-125/4.0 26.5] - - - - - - 26 255 25 24 225 | 215 | 179 14
50-160/5.5 33 - - - - - - 31 30.5 30 28.5 27 25.5 22 18
50-160/7.5 40 - - - - - - 38.5 38 37.5 36 35 33.5 30 26
50-200/9.2 53| - - - - - - - - 50 49 475 | 45,5 | 40.5 34
50-200/11 59| - - - - - - - - 56 55 54 52 48 42
50-200/15 72| - - - - - - - - 70 69 68 66 62 57

* Single phase version only for 3M type

3 SERIES: 65, 80 Version

Pumptype | yrin o] 600 | 700 | 900 | 1300 | 1500 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000

mh 0| 36 | 42 | 54 | 78 | 90 | 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
65-125/4.0 222]198] 18 [173] 133 11 ] 86 | 63 | - - : - : : : : : -
65-125/5.5 271 - | 24 [222] 18 | 157] 133 | 108 | & - : - : : : : : -
65-125/7.5 32| - | 205|278 235 | 214| 187 | 161 | 134 | 12 : - : : : : - -
65-160/7.5 32 - | 30 [286] 248 | 225] 199 | 174 | 142 | - : - : : : : : -
65-160/9.2 36.5| - | 345328 288 | 265| 239 | 214 | 183 | 168 | - . : : : : : .
65-160/11 405| - | 385|371 331 | 309 284 | 258 | 23 | 215 | 20 | - : : : : : -
65-160/15 48] - |455| 44 | 40 | 378 353 | 326 | 206 | 28 | 265 | - : : : : : -
65-200/15 535| - | 51 | 49 | 44 | 415] 384 | 353 | 31.8 | 30 B - : : : : : -
65-200/18.5 605| - |585|565| 515 | 49 | 46 | 43 | 397 | 38 | 363 | - : : : : : .
65-200/22 67] - | 655] 64 | 595 | 57 | 54 | 51 | 48 | 465 | 45 | - : : : : : -
65-250/30 78] - | - | 77 | 735 | 71 | 68 | 645 | 60 | 575 | 55 | 52 | - : - : - -
65-250/37 go| - | - | 88 | 855 | 83 | 805 | 775 | 74 | 72 | 70 | 675 | 65 | - : : : :
80-160/11 20| - | - | - | 273 | 264| 254 | 242 | 23 | 224 | 218 | 211 | 204 | 164 | 125 | - 5 -
80-160/15R 32 - | - | - | 305 |207| 288 | 27.7 | 265 | 259 | 253 | 246 | 24 | 201 | 165 | 145 | - -
80-160/15 3| - | - | - | 34 |333| 325 | 315 | 305 | 30 | 294 | 288 | 284 | 244 | 21 | 194 | 17 | -
80-160/18.5 40| - | - | - | 39 [384]| 376 | 367 | 357 | 352 | 347 | 34.1 | 335 | 30 | 264 | 244 | 223 | 20
80-200/22 50| - | - | - | 48 | 47 | 455 | 445 | 43 | 42 | 41 | 40 | 39 | 332 278 | 25 | - -
80-200/30 60| - | - | - | 585 58 | 57 | 56 | 545 | 54 | 53 | 52 | 51 | 465 | 415 | 39 | 361 | 33
80-200/37 66| - | - | - | 64 | 63| 62 | 61 | 595 | 59 | 58 | 575 | 565 | 515 | 47 | 445 | 415 | 385
80-250/37 73 - | - | - | 715 |705| 685 | 665 | 64 | 63 | 615 | 60 | 585 | 485 | 38 | - : :
80-250/45 8a| - | - | - | 825 |815| 80 | 78 | 76 | 75 | 735 | 725 | 71 | 62 | 53 | 48 | 425 | -
80-250/55 95| - | - | - | 935 |925| 915 | 90 | 885 | 875 | 865 | 855 | 84 | 765 | 685 | 645 | 60 | 55

204

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS

50Hz

TYPE KEY

[ [ L] [mM][z][H][se]-[1we]/[15]TR][M] [a1aEcG]

SPECIAL MECHANICAL SEALS

Q1AEGG

U3U3EGG

Q1Q1EGG

SINGLE PHASE ONLY

REDUCED IMPELLER

POWER CODE

Q1U3EGG

U3CEGG

IMPELLER CODE

18.5

DISCHARGE SIZE

OPTIONS MECHANICAL SEAL

PUMP CASING WITHOUT FOOT (only for version 3LM and 3LS 32, 40, 50, 65-125/160/200)

MODEL TYPE

2 ES

For versions 32, 40, 50
65-125/160/200

AISI 304

AlSI 316L

| *

For versions 65-250 , 80

AlSI 316

3 SERIES

*-) No indication

Rev. AH

205

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. AH

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P2 = pump power input (shaft power)

n pump efficiency
NPSH net positive suction head required by the pump
MEI minimum efficiency index

206

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. AH

MEI INDEX SPECIFICATION

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency.
The minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced energy consumption.
The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

MEI = 0.4 for ESCC 2900 rpm MEI= 0.7 for ESCC 2900rpm

C

12 i@

giglg\z\g\g \;

T T
20

&

50 60 70
specific speed ns [rpm]

8
8
8

specific speed ns [rpm]

MEI = 0.4 for ESOB 2900 rpm MEI=0.7 for ESOB 2900rpm

N

81

50 60
specific speed ns [rpm]

specific speed ns [rpm]

207

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz
Rev. AH
MEI INDEX VALUE
MEI VALUE
SIZE 3M 3S 3P

32-125 >20.4 >20.4 204
32-160 >0.7 20.7 >0.7
32-200 >0.6 20.6 >0.5
40-125 >0.7 20.7 >0.6
40-160 >0.7 >0.7 >0.7
40-200 >0.7 20.7 >0.7
50-125 >20.4 >20.4 204
50-160 >0.7 >0.7 >0.6
50-200 >0.7 20.7 >0.7
65-125 >0.7 >0.7 >0.7
65-160 >0.7 20.7 >0.6
65-200 >0.7 >0.7 >0.6
65-250 >0.5 20.5 204
80-160 >0.7 >0.7 >0.7
80-200 >0.5 20.5 204
80-250 >0.7 20.7 >0.7

208

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

32-125/1.1 — impeller diameter = 133 mm

0 US.g.pm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| [ [ I [ [ [ [ [
” 0 Imp.g.p.m. 20 30 40 50 60 70 80
- 80
H = | H
CT T - 70
[m] " ~—_ [ft]
7
~ - 60
™~
S
15 N - 50
N
Ny - 40
10
NPSH 30
[m] [ft]
62020
5 5
15
™ 4
NPSH —— ™ 311010
2
5
0 0
0 50 100 150 200 250 300 350 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ |
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
1.6
P2 -
[kw] 125/1.1
0.8 =T
0.4
0 50 100 150 200 250 300 350 Q [I/min]
& 1]
T] - — T T T T
60 = —=—125/1.1
(7] " /
1
50 -
P
40
30
0 50 100 150 200 250 300 350 Q [I/min]

Rotation speed = 2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

209

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
32-160/1.5 - impeller diameter = 151 mm
32-160/2.2 - impeller diameter = 166 mm
0 US.gp.m. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H i —120 H
—~
[m] 35 ‘\\‘\ 7 y [t]
6‘ —
%22
TN
30— 100
1 -
~ N 90
25 ~2%15 { | 80
NP |
20 ™
<. [m] [ft]
N s 60
0 7
2
15 5 4520
NPSH 3110
— 40
5
10
0 50 100 150 200 250 300 350 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
2.4
L ——-160/2.2
kW —— P
LU — 160/1.5
1.2 — —
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
: NEN
L ~160/2.2
[%] 60 = =160/1.5
50 =
40
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
210

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
32-200/3 — impeller diameter = 186 mm
32-200/4 — impeller diameter = 200 mm
32-200/5.5 — impeller diameter = 224 mm
32-200/7.5 — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| ] ] ] ] ] | ] ] ] ] ] | ]
0 Imp.g.p‘lm. 2 30 40 50 60 70 80 % 100 o
80 - 260
H 240 H
[m] 70—+ e [ft]
| - 220
\\ 2
T
60 T™~U5; 200
\\\
g - 180
50 T =200 ). <0 160
o .
P L N NPSH |-140
40 me— S EEE ™ [m] [#]
20
- ‘2/3@ 8 p5[ 10
1
A1 612
P 100
30 ~ = 48
NPSH — ~ 10
e 2 —80
-5
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3h]
8
0, L] |/5‘ | HEN
200/2-0 .
G 6 - 200/7.5
4 =TT 200/4.0
200/3.0~
2 L i L L L
0 50 100 150 200 250 300 350 400 450  Q [I/min]
ne" EENEEN [T 1200/4.0 111
% =
[%] B == 200/5.5
Pz
30 -
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 - Grade 3B
211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

40-125/1.5 - impeller diameter = 125 mm
40-125/2.2 - impeller diameter = 140 mm

0 US.g.pm. 40 60 80 100 120 140 160 180 200
| ] ] | | | | | | ]
| T T T T I T | |
© 0 Imp.g.p.m. 40 60 80 100 120 140 160
- 90
H —— = H
T~
m ft
[m] 25 ~1 / g M
25 2,
70
20 =
~ " —60
.5 N
15 S~ —50
\\\ NS
N
- 40
N
" \ NPSH
3 [m] [ft]L 30
™ - 25
7_
20120
5 51 15
NFSH —— — 1 1 3-t10f10
s
0 0
0 100 200 300 400 500 600 700 Q [I/min]
| T T T T T | | T | |
0 12 16 20 24 28 32 36 40 44 Q [m3/h]
3
0, BN
125/2.2 L]
W 2 I 25/2.
1 125/1.57
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n = ~
] T~
[#] 70 = \ ~125/2.277]
) T
r 125/1.5 | |
. |1
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
212

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

40-160/3 — impeller diameter = 151 mm
40-160/4 — impeller diameter = 166 mm

0 US.gp.m. 40 60 80 100 120 140 160 180 200
| L L | —L L | L L l —
" 0 Imp.g.p.m. 40 60 80 100 120 140 160
140
H H
(m] 4 B 130 [ft]
= = 120
. i
35 60 &
™ 110
N
04— T — ™ - 100
~ /6
N~ 00
25 \/\{0
N - 80
SN
3 NPSH [~70
20 g [m] [ft]
60
N ,F»
20
15 5 1550
NPSH —
3100 0
15
10
0 100 200 300 400 500 600 700 Q [1/min]
| T T T T T T T T l T T |
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3h]
5
[ [ ]
P2 4 160/4.0—
[kW] —— I
3 —— 160/3.07]
2 - —
1
0 100 200 300 400 500 600 700 Q [1/min]
80
: 1]
] —160/4.0
[%] 70 = 160/3.0
60 7/
P
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 - Grade 3B
213

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
40-200/5.5 — impeller diameter =183 mm
40-200/7.5 — impeller diameter = 200 mm
40-200/11 — impeller diameter = 224 mm
0 US.gp.m. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
I I I I I [ I I I
% 0 Imp.g.p.m. 40 60 80 100 120 140 160
250
H 1T H
[m] 70 I -200/11 230 [ft]
T—
~—— 210
60 S~
— P 190
200
25
~ —170
50 T~
— TN
—— - 150
\\ioﬂ/S 5
40 = NPSH 130
~ [m] [ft]
o~
~_ 7 1o
30 ~ 5 15
NPSH H | s
5
1 L
2 70
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q[mh]
12 T
P2 10 200/117
kw] 8 — — [
L] 6 —— 200/7.5
200/5.5—
4 -
9 .
0 100 200 300 400 500 600 700 Q [I/min]
80 L——
I ] 200/7.5]
% =]
(%] 4o e
50 200/5.5 1=
40 200/11
30 L[|
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

50-125/2.2 — impeller diameter = 126 mm
50-125/3 — impeller diameter = 131 mm
50-125/4 — impeller diameter = 140 mm

0 USgpm. 50 100 150 200 250 300 350
| | | 1 ! | | !
| | T I | 1 1
. 0 Imp.g.p.m. 50 100 150 200 250 300
H @ ——— —— H
Tt
[m] 25 7 (ft]
T
)
_____ = m \
—— - 60
N\ \
15 | 7 \
\ \ - 40
10 \ A NPSH
[m] [ft]
62020
5 5
NPSH // 2t
SR 3410
L 2 ¢
1
0 0
0 200 400 600 800 1000 1200 Q [I/min]
| | T | | 1 | | |
0 10 20 30 40 50 60 70 Q [m¥/h]
6
P2
125,/4.0—|
W) * ———
1 125/3.0
2 —— 125/2.2
0
0 200 400 600 800 1000 1200 Q [I/min]
80
[n] 70 — e
% —
= T~ 125/4.0 |
\ \
60 ~
125/2.2 125/3.0
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min""’
Test standard: ISO 9906:2012 - Grade 3B
215

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
50-160/5.5 — impeller diameter = 154 mm
50-160/7.5 — impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
| I I | I | I
5 0 Imp.gpm. 50 100 150 200 250 300
160
H H
[m] 140 [ft]
40 =T
N~ 16 L
V5 120
—t——_ _ \\
-~ ‘\
30 T~ 76 100
~~ % 5
\\
\\\ NPSH [~80
[m] [ft]
20 10
8 0 60
62
NPSH — .
— | 10
2 —40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 T T
P, _ 160/7.5-+—
— | L
[w) 8 E—— ———
) = — 160/5.5
/’
2
0 200 400 600 800 1000 1200 Q [I/min]
80
: T[]
—T——— 160/7.5
(%] 70 = — —
= — 160/5.5 | |
7,
60 =
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min-!
Test standard: 1ISO 9906:2012 - Grade 3B
216

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
50-200/9.2 — impeller diameter = 191 mm
50-200/11 — impeller diameter = 200 mm
50-200/15 — impeller diameter = 224 mm
0 USgpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
| I I | I | I
0 Imp.gp.m. 50 100 150 200 250 300
80 - 260
H T 240 H
m] 70 Tr———— —1—200/15 [ft]
T L 220
o~
T~
60 ~ 200
T T T —_— \'
~-200/11 - 180
I . | j‘\
50 = —-200/9 » 160
\\\
3 NPSH 140
P
40 ~ [m] [ft]
8-, 120
620
30 — oo 100
NPSH — L0
- 24 5 80
20
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
200/15
i SEEEEES
kW -
12 — 200/117 ]
—— 200/9.2] |
0 200 400 600 800 1000 1200 Q [I/min]
80
. | 1]
200/9.2 % — — |
60 200/1M-F——=—=
200/15
50 —
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
217

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
65-125/4 — impeller diameter = 128 mm
65-125/5.5 — impeller diameter = 138 mm
65-125/7.5 — impeller diameter = 149 mm
0 US.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
| I I I I | I
" 0 Impgpm 100 200 300 400 500 600
120
H
[m] [ft]
30 T TTH 100
™
==L e
\\\72\5/55 - 80
i Rnt S N »
20 7
N 25/5 NG - 60
) N
S | 7‘\
N 72
~27, TN N s |
N [m] [#t] [
10 =~ ™ 30
\\ 8
6120 20
NPSH g .
10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
(I) 2'0 4'0 6|0 8|0 1('10 12'0 14'10 I0 [m3/h]
8 L —
Py —— 125/7.5
[w 6 — —
= 125/5.5
4 — — 1
— 125/4.0
2 [l | |
0 400 800 1200 1600 2000 2400 Q [I/min]
80
n A —~ \\\
[#] 70 . ~
N
60 ‘\\ \\\ DS ]25|/7.5
- 125/40 NN 125/55
I I
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min™’
Test standard: ISO 9906:2012 - Grade 3B
218

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
65-160/7.5 — impeller diameter = 153 mm
65-160/9.2 — impeller diameter = 161 mm
65-160/11 — impeller diameter = 168 mm
65-160/15 — impeller diameter =178 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
| I I I I | I
0 Imp.gpm. 100 200 300 400 500 600
» . 160
H
[m] ~_ 76 140 [r]
Y= . /5
N
— i - s 120
-~ 7
T NQOQK Q
TTr—— 76, N L 100
30 [ _ 0/9.2 \\ N
™SS ) § 80
\\\ N \\‘
20 S
N 60
N NPSH
NG Y
[m] [f]
— 1 620 |40
10 - 5
NPSH — 1 o
— 310 20
2
gk
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m¥/n]
16 T 1
Py — 160/15
[w] 2 L — 160/11
g _— 1 — 160,/9.2
e 160/7.5
4 — || !
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
% 80
g =§§:\:\\
SR 160/15
N — ot
70 ANND 160/11
NS 160/9.2—
5 160/7.5 177 |
I
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
219

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

65-200/15 — impeller diameter = 190 mm
65-200/18.5 — impeller diameter = 201 mm
65-200/22 — impeller diameter = 212 mm

0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| | | | | | |
0 0 Imp.gpm. 100 200 300 400 500 600
I s e e Y 220
H H
N
[m] L ) | 50o Lt
60 =~ N /2
S s o S N N A N4
\\ \\
3 2 D —180
ST ™S 0/76’ NS
50 ~ ) N
N
N ~ 160
™ N
N 200// \ N
\f N 140
40 N
N
NG 120
\\ NPSH
[m] [ft]
30 ~100
I o
NPSH 6—20
I 4 [
2
20
0 400 800 1200 1600 2000 2400 Q [I/min]
| T T T T | | | T
0 20 40 60 80 100 120 140 Q [m¥/h]
24
P, — | —— 200/22
kW] = = 200/18.5
16 — ——
— — 200/15
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[7] 80 — 200/22
S 200/18.5
70 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min™’
Test standard: ISO 9906:2012 - Grade 3B
220

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz

Rev. AH

65-250/30 — impeller diameter = 235 mm
65-250/37 — impeller diameter = 250 mm

0 US.gpm. 100 200 300 400 500 600 700
| | | | | | | |
| [ [ [ [ [ [
0 Impgpm. 100 200 300 400 500 600
100
H . 300 H
[m] | ~—2950/35 [#t]
80— ] P~
= ——t —“\\‘ 250 \\ 250
Y30 Ny
i
NS
\\
N
60 200
NPSH
[m] [ft]
104 —150
30
40 8
= 25
NPSH ~ 62
|t
—— 15
—= 4P l100
— 10
215
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ [ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
40 T
—
P2 —— 250/371
[kw] L T 250/30
20 // [
p—
10
0 400 800 1200 1600 2000 2400 Q [1/min]
80
: | = ]
T— B
[#] 70 / 250/37_
=7 250/30
60
50
0 400 800 1200 1600 2000 2400 Q [1/min]

Rotation speed = 2900 min™’
Test standard: 1ISO 9906:2012 - Grade 3B

221

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
80-160/11 — impeller diameter = 154 mm
80-160/15R — impeller diameter = 160 mm
80-160/15 — impeller diameter = 165 mm
80-160/18.5 — impeller diameter = 174 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
(‘) Imp.g.p.m. 2(‘30 4(‘30 6(‘30 8(‘30 WO‘OO
>0 160
H H
[m] 140 11
40 =
7 120
R eE o s ~J%15;
T~
—— PSS B
30— I —— i \\ 60//5 - 100
/60 N
~ & Q N\ - 80
— /50/ N N
20 7 N
N
Q N - 60
[N Y
N NPSH
[m] [t 49
10 10
- 30
NPSH 8
— — = 6 20|20
4%
;10
0 0
0 1000 2000 3000 4000 Q [I/min]
(‘) 5‘0 wéo 15‘0 2(‘)0 2!30 Q [m‘ 3/h]
20
—! 160/18.5
PZ // [
[RW} 16 | —t WBO/WS
" —_— | | — 160,/15R
4/’// '
— 160/11
8 - L L
0 1000 2000 3000 4000 Q [I/min]
90
n \
[%] 80 ﬁ:\:\\
IO 60/15
NN |
70 N 160,/18.5
160/11°N" 160/15R |
60 | | I I I
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
222

5 E2ARA EBARA PUMPS EUROPE SpaA.



3 SERIES

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. AH
80-200/22 — impeller diameter = 196 mm
80-200/30 — impeller diameter = 211 mm
80-200/37 — impeller diameter = 219 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ]
I I I I I [
50 0 Imp.g.p.m. 200 400 600 800 1000
250
H H
[m] A N [ft]
T
200
60 e 2005,
200
< /30\\\
—|—~d ~ ~
—~— . \\\\\‘ 150
" N 00/22 \\\\\
N
\\\ \\\
N —100
N NPSH
[m] [f]
20 8 5
6— 2050
NPSH - ="
— 10
25
0 0
0 1000 2000 3000 4000 'Q [1/min]
[ I I | I I ]
0 50 100 150 200 250 Q [m3/h]
40 —
Py — 200/37
[kw] %0 — s 200/30
2 —_— 200/22
e —1 ‘
10 |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80 =
A N R 200/37
/a N N
70 77 N 200/30
# 200/22 —
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min™’
Test standard: ISO 9906:2012 - Grade 3B
223

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. AH
80-250/37 — impeller diameter = 230 mm
80-250/45 — impeller diameter = 245 mm
80-250/55 — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
| I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
10p_mP-gPm
’ —_‘*\\\ 2 L300 "
m] = R ()
5 —'-\\\
250 | N — 250
I A ) s e s N
! ‘ L \\
~N <%0 | N
60 %55 NG - 200
N \\
\\ \\
\\ \\1 150
AN
40 N
NPSH 100
[m] [ft]
20 8
NPSH ~ 6 0150
— 415
10
2715
0 0
0 1000 2000 3000 4000 Q [I/min]
[ I I I I I ]
0 50 100 150 200 250 Q [m3/n]
70 —
P2 250,/55
[kw] L 250,/45
s —
30 — 250/37
10 ||
0 1000 2000 3000 4000 Q [I/min]
80
n =\\\
[%] 70 , /l/ \\ \\\\\
7 N 250,/55
60 7 \\ \ ‘
250/37 — 250,/45
50 | | | | I |
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min-!
Test standard: ISO 9906:2012 - Grade 3B
224
5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200

UP TO 11 kW
1 4 26 72 56 16 17 38 6 12 2

L

S erho| |
TR )L

I
|

— 93

L
| ____{ ——— 101
]

‘ 15

2o 200 11 9 23518 92 19 22 42 20 13

15 kW AND ABOVE

f [ = %

300
5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200
N PART NAME a MATE"?'A" A DIMENSIONS STANDARD  |Q.TY
1 |Casing EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) 1
3 |Motor bracket [9 1
4 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
6 |Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
7 |Impeller EN 1.4301 (AISI 304)[10] |[EN1.4404(AISI 316L)[10] 1
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [8] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal bc»‘( cover Aluminium (three phase version) 1
. Upto 11 kW 40x21.5x3
18 |Splash ring 15 kKW and above NBR / 50x29.5x3 EBARA DRAWING 1
19 |Bearing - See table p.324 1
20 |Bearing - See table p.324 1
21 |Adjusting ring Steel C70 1
Up to 3 kW M5
2 Tie rod For4-55-75kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 strenght class ISO 898-1 M10x40 UNI 5739
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0" ring 32-160, 40-160, 50-125 NBR [7] EPM 183.52x5.34 OR 6720 1
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 ) )
Up to 11 kW A 6x6x25
32 |[Key 15 kKW and above EN 1.4401 (AISI 316) A Bx7x30 UNI 6604 1
Up to 11kW M16x1.5
34 |Impeller nut |50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Aluminium / Galvanized steel EBARA DRAWING | [1]
56 |Box gasket NBR 1
58 |Fasting nut - [2]
72 |Casing ring [3]1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
. From 4 to 7.5 kW 30x47X7 DIN 3760
92 |Lip seal From 9.2 kW to 11 kW B B 40x55x7 without spring !
From 15 kW to 22 kW 45x60x7
91 |Impeller spacer [11] EN 1.4404 (AISI 316L) 1
Up to 4 kW 25x40x7
. From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
93 |Lipseal  IE om 0.2 kW to 11 kW . . 40x55x7 without spring !
From 15 kW to 22 kW 45x60x7
101|Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 @40 UNI 7435 1
32-125, 40-125 M 8x30 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class I1SO 3506/1 M 10x35 UNI 5739 [
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235|Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 [
50-200, 65-125, 65-160, 65-201 )
206|Screw for bracket [5] Galvanized Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4
244|Pin [6] - [ EN 1.4301 (AISI 304) 4x15 1
Counterflange kit on request, see table p. 335-336 [7] FPM for H-HS-HW-HSW version
EPDM for E version, Q1AEGG, Q1Q1EGG, Q1U3EGG, U3CEGG,
[1] Quantity =0 for 65-160/15 U3U3EGG
Quantity =1 for 32-40-50 and 65 up to 11kW (U3U3EGG not available for 65-160/15 and 65-200)
Quantity =2 for 65-200/15, 65-200/18.5, 65-200/22 [8] Special version: see page 326 and following
[2] Quantity =1 up to 11kW [9] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15,
Quantity =2 from 15kW to 22kW 18.5, 22 kW motor
[3] For version 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, Aluminum AL-EN-1706-AC-46000-D for all the others.
40-200/7.5, 40-200/11, 50-160/5.5, [10] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200
50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 [11] Only for 32-125/1.1

[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160,
65-200

[5] For 15kW and above

[6] Only for 65-160/15 and 65-200

301

5 E2ARA EBARA PUMPS EUROPE SpaA.




3 SERIES

CENTRIFUGAL PUMPS
CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
UP TO 11 kW
1 4 26 72 18 o6 6 17 58 6 12 21
sl | || ]
il iy
25 200 11 3 235 00 92 19 22 42 101 20 13 15
15 kW AND ABOVE
! 206 I \
| ‘ T\ b
=4Sk -
. | ] =
' I
|| GE - | - S | | N U I =———
5 ‘ [ il +
|
e QT 2
302

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200

N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing EN 1.4404 (AISI 316L) 1
3 |Motor bracket [8] 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft with rotor-Part in contact with liquid EN 1.4404 (AISI 316L) 1
7 |Impeller EN 1.4404 (AISI 316L) [9] 1
11 |Mechanical seal SiC/SiC/FPM [7] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cher Aluminium 1
. Up to 11 kW 40x21.5x3
18 |Splash ring [15 kW and above / 50x29.5x3 EBARA DRAWING 1
19 |Bearing - See table p. 324 1
20 |Bearing - See table p. 324 1
21 |Adjusting ring Steel C70 1
Up to 3 kW M5
22 Tie rod For4-55-75kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 M10x40 UNI 5739
25 |Draing plug AISI 316 / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0"ring 32-160, 40-160, 50-125, 65-160 FPM 183.52x5.34 OR 6720 1
82-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 | )
Up to 11 kW A 6x6x25
32 |Key 15 kW and above EN 1.4401 (AISI 316) A Bx7x30 UNI 6604 1
Up to 11kW M16x1.5
34 |Impeller nut  |50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Al / Galvanized steel EBARA DRAWING | [1]
50 |Casing foot (only from 1.1 kW to 11 kW) Galvanized steel 1
56 |Box gasket NBR 1
58 |Fasting nut - [2]
72 |Casing ring [3] EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
. From 4 to 7.5 kW 30x47X7 DIN 3760
92 |Lip seal From 9.2 KW to 11 KW ) 40x55x7 without spring !
From 15 kW to 22 kW 45x60x7
91 |Impeller spacer| [10] EN 1.4404 (AISI 316L) 1
Up to 4 kW 25x40x7
93 |Lip seal From 5.5 kW to 7.5 kW R 30x47X7 .DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |[Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 a 40 UNI 7435 1
32-125, 40-125 ’ M8 8
200 |Screw 40-160, 40-200, 50-125, 50-160, St;:;zslssge:fsl&% 170 W10 UNI 5739 »
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235 |Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 (4]
50-200, 65-125, 65-160, 65-201 |
206 |Screw for bracket [5] Galvanized Steel 8.8 M 10x40 UNI 5739 4+4
244 |Pin [6] EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 335-336

(1

(2]

[3] For version 32-200/3/4/5.5, 40-200/5.5/7.5/11, 50-160/5.5/7.5, 50-200/9.2/11/15
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125

(5]
(6]
(7]

Quantity =0 for 50-200/15 and 65-160/15

Quantity =1 for 32-200/7.5, 40-200/7.5/11, 50-160/7.5, 50-200/9.2/11, 65-125/7.5, 65-160/7.5/9.2/11

Quantity =2 for 65-200/15/18.5/22
Quantity =1 up to 11kW
Quantity =2 from 15kW to 22kW

Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

For 15kW and above
Only for 65-160/15 and 65-200
Special version: see page 326 and following

[8] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor

Aluminum AL-EN-1706-AC-46000-D for all the others.

[9] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200
[10] Only for 32-125/1.1

Rev. AH

303

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LM 80-160/11

75 24 77

13 14 15

6 12

58

-
201 42 22 220 20 21 93

WV

7 25 76 78 235200 244 18 92 19 101
200A

1 34 32 11 4 26 3 5 16 17
puy

304

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5

75 24 77

!

22 20 21 93 230 201

12 13 14 15

| !
)

=1
¥

58

N

1 25 76 78 34 11 235200244 92 19

I TPl

200A

T

1=

N

7 32 4 26 3 18 206 56 16

305

Iy
:

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LM 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing CF8M - EN 1.4408 (AISI 316) 1
3 | Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 | Shaft with rotor EN 1.4404(AlSI 316L) - Wet extension 1
7 |Impeller CF8M - EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [5] 1
12 | Motor frame with stator - 1
13 |[Motor cover Aluminium 1
14 |Fan PA 1
15 [Fan cover Fe P04 Galvanized 1
16 [Terminal - 1
17 | Terminal box cover Aluminium 1
18 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
19 |Bearing - See table p. 324 1
20 |Bearing - See table p. 324 1
21 |Adjusting ring Steel C70 1
22 |Screw Galvanized Steel 8.8 strenght class ISO 898/1 EPE DRAWING 4
24 |[Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
25 [Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
26 |"O"ring FPM 227.96x5.34 OR 6895 1
32 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
34 |Impeller nut Aluminium M20x1.5 UNI 7474 1
42 |Foot Aluminium EPE DRAWING [1]
56 |Box gasket NBR 1
58 |Fasting nut - [2]
75 |Washer (plug) EN 1.4404 (AISI 316L) 1
76 |Washer (plug) 1
77 | O-ring (plug) 1
78 |O-ring (plug) FPM 4] 1
92 Lip seal 11 kW ) 40x55x7 DIN 3760 1
15 - 18.5 kW 45x60x7 without spring 1
93 Lip seal 11 kW _ 40x55x7 DIN 3760 1
15 - 18.5 kW 45x60x7 without spring 1
101 |Snap ring (only 11 kW) Carbon tool steels TC 80 J 40 UNI 7435 1
200 |Screw . M 10x35 10
200 Al Screw Stainless steel A2-70 class 1SO 3506/1 M10:x30 UNI 5739 2
11 kW . M 6x40 1
201 |Screw 15 - 18.5 KW Stainless steel A2-70 class 1SO 3506/1 M 12x40 UNI 5739 4
206 |Screw for bracket (only 15 - 18.5 kW) Galvanized steel 8.8 strenght class 1SO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 kW) Galvanized steel M10 4
11 kW - - - -
230 [Washer 5 485 kW Galvanized steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 6592 12
244 |Pin [3] EN 1.4301(AISI 304) 4x15 1
Counterflange kit on request, see p. 335-336
[1] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-160/18.5
[2] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-16018.5
[3] Not for H and E version
[4] FPM for H, HW, HSW version
EPDM for E version, Q1AEGG, Q1Q1EGG, Q1U3EGG, U3CEGG
[5] Special version: see page 326 and following
306

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

/4] 2611 3 44 206

) \\/T ”””””””””
75 34 32 25 200 235 /2 © 42 12
tu u) 1 VI\I
N 0
=‘*( B<>< %ﬁ [ = < 7
L] =
] g 21 T
~{ g || | RO
T i =
ll G
91 ﬁg/j W [ g
]{ / | - B f@@ﬂw
* , JaSSs
' % ;g [
20V

307

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200

‘ [ Tl
1 11T j

=1l annnAnA

L | ‘ UUUUULY

3 el e Wi il
| | ] e ———————= ————T1

206-2

|
i = s | N\
Y e —/
| :
‘ — — ]
‘ 700000000000 )
| \ | nnpnnANANNANA . i
| | ‘ UUUUUUUUUULUY ) ’
‘ 1000000000000
1 — ||
‘ | |
: —L 1% }
J
=T —————— Oof————— (4 | === YP——————————————— =
il - [
L244

308

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
38 3LS
1 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 333 1
7 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) [9] 1
11 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [7] 1
12 |Motor - 1
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"0" ring gg_}gg 40-160, 50-125, NBR [8] EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160,
50-200. 65-160. 65-200 227.96x5.34 OR 6895
32 |Key Upto 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42 |Foot Aluminium / Galvanized steel [2]
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING | 1
72 |Casing ring [3] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
73 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
91 |Imperller spacer [10] EN 1.4404 (AISI 316L) 1
200 |Screw 32125, 40125 Stainless steel A2 70 class 1SO 3506/1 M 8x30 UNI 5739 8
50-200, 65-125, 65-160, 65-200 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 strenght class ISO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Galvanized Steel 8.8 strenght class 1ISO 898/1 UNI 5931 4
235 |Washer 32:125, 40-125 Stainless steel A2 70 class ISO 3506/1 M8.4x17 UNI 8592 8
50-200, 65-125, 65-160, 65-200 M 10.5x21 UNI 6592 [4]
244 |Pin [6] - EN 1.4301 (AISI 304) UNI 5931 4

Counterflange kit on request see p. 335-336

[1] Only for version 65-125/5.5 and 65-125/7.5
[2] Quantity =0 for version 65-200/22
Quantity =1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11, 65-160/15, 65-200/15, 65-200/18.5
Quantity =2 for version for 65-125/4, 65-160/7.5, 65-160/9.2
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following
[8] FPM for H-HS-HW-HSW version
EPDM for E version, Q1AEGG, U3U3EGG , Q1Q1EGG, Q1U3EGG, U3CEGG)
U3U3EGG not available for 65-150/15 and 65-200
[9] CF8M — EN 1.4408 (AlISI316) material for 65-125 up to 65-200
[10] Only for 32-125/1.1

309

5 E2ARA EBARA PUMPS EUROPE SpaA.



3 SERIES

CENTRIFUGAL PUMPS
50Hz

Rev. AH

CONSTRUCTION

SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5
50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2

) p—

a8
—
"
L_:_j”/
S

oy
17
=
Hﬁé

S

|
N
[\ ninnann

uuuuu — ; -

¥E_l — ] —
' /

: asan) / agan)

i i
R By

|
7334 32 2091200 /72 235
206—2  3A

I

nnnnnnn ’

=T /
\
AL R ﬂ@ I | I o
L] | UUUUULY
V= wo ||
Inn e e
310

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LSZ 40-200/11, 50-200/11/15, 65-160/11/15, 62-200

| l
' — 1 [
- + |
ommd -
| 000000000000 (
‘ \ | ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ
i %éi 7 | N I Y - ] L
‘ ‘ ! ululuuuuuuuuu
Q | 0000000000000 :
| | u
— | | 2m e
| | | .
944 L] [ —42

311

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing EN 1.4404 (AISI 316L) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
4  |Casing cover EN 1.4404 (AISI 316L) 1
6 |Coupling - Part in contact with liquid EN 1.4404 (AISI 316L) See table p. 333 1
7 |Impeller EN 1.4404 (AISI 316L) [9] 1
11 |Mechanical seal SiC/SiC/FPM [7] 1
12 |Motor - 1
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
26 |"O"ring 22122 40-160, 50-125, EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160
50-200: 65-1 60: 65-200’ 227.96x5.34 OR 6895
32 |Key Upto 11 kW EN 1.4401 (AIS| 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
42  |Foot Aluminium / Galvanized steel [2]
44  |Protection EN 1.4301 (AISI 304) EBARA DRAWING | 1
50 |Casing foot (only from 1.1 kW to 9.2 kW) Galvanized Steel 1
72 |Casing ring [3] EN 1.4404 (AISI 316L) 1
73 |Casing ring EN 1.4404 (AISI 316L) 1
91 |Impeller spacer [10] EN 1.4404 (AISI 316L) 1
32-125, 40-125 Stainless steel A2 70 class ISO M 8x30 UNI 5739 8
200 |[Screw
50-200, 65-125, 65-160, 65-200 3506/1 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Galvanized Steel 8.8 UNI 5931 4
32-125, 40-125 Stainless steel A2 70 class ISO M 8.4x17 UNI 6592 8
235 |Washer
50-200, 65-125, 65-160, 65-200 3506/1 M 10.5x21 UNI 6592 4]
244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4
Counterflange kit on request see p. 335-336
[1] Only for version 65-125/5.5/7.5
[2] Quantity =0 for version 65-200/22
Quantity =1 for version for 32-125/160, 50-125/2.2
Quantity =2 for version for 32-200, 40-125/160/200, 50-125/3/4, 50-160/200, 65-125, 65-160, 65-200/15/18.5
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following
[8] FPM for H-HS-HW-HSW version
EPDM for E version, UBU3EGG, Q1Q1EGG, Q1U3EGG, Q1AEGG, U3CEGG
U3U3EGG not available for 65-150/15 and 65-200
[9] CF8M — EN 1.4408 (AlISI316) material for 65-125 up to 65-200
[10] Only for 32-125/1.1
312

=TT

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LS 80-160

75 24 77

—

"N 3 44
AH
e
n
—
pononof
l
00000000000
—]
235 200 244 6
200A

|
\
© =J .
~ =9
sk <2 H
~ |
oN [ ﬁ]
Lop)
fffffff T 3
~
~
©
< ~
Lap]
Q

313

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LS 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY

1 |Casing CF8M-EN 1.4408 (AlISI 316) 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Coupling EN 1.4404 (AISI 316L) See table p. 333 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [3] 1
12 |Motor - 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
26 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M 20x1.5 UNI 7474 1
42 |Foot Aluminium EPE DRAWING 2
44 | Protection EN 1.4301 (AISI 304) EPE DRAWING 2
75 |Washer (plug) 1
76 |Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [2] 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200 A |Screw class 1SO 3506/1 M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5x21 UNI 6592 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request see p. 335-336

[1] Not for H and E version.

[2] FPM for H, HW, HSW version

EPDM for E version and Special Seals (Q1AEGG, Q1Q1EGG, U3CEGG, Q1U3EGG)

[3] Special version: see page 326 and following

314

=TT

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250

75 24 71

- [d=
L Il i,,,,, i
oM [l
oLl .
*:}*L Ji,,,,, UL
L=
) j - =]
n\ﬁ axns) . as21 o ©
= : 3
3 ' S
8 il e
<+ s — &
o <
% <\_;

315

% E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
Motor bracket Cast iron EN-GJL-200-EN 1561 1
3 A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
4 |Casing cover EN 1.4401 (AISI 316) 1
4 A |Screw for casing cover EN 1.4301(AISI 304) 2
3 _ EN 1.4404 (AISI 316L) for 22 kW 1
65-250] d=24 mm EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
6 Coupling EN 1.4404 (AISI 316L) for 22 kW See table p. 333 1
80-200| d=24
mm EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
80-250| d=29 mm EN 1.4462 (Duplex stainless steel) 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [6] 1
12 | Motor - 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
26 |"O"ring FPM [5] 253.36x5.34 OR 6995 1
65-250 | | 1
32 |Key 80-200 d=24 mm EN 1.4401 (AISI 316) 87330 UNI 6604 1
80-250 | d=29 mm 8x7x40 1
. 65-250 | |_ 1
34 'nije"er 80-200 | 9~24 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
85-250 | d=29 mm M24x2 1
42 |Foot for motor Aluminium [2]
EPE DRAWING
42 A |Foot for pump Aluminium/Galvanized steel (only for 80-250/55) [3]
75 |Washer (plug) 1
76 |Washer (plug) EN 1.4404 (AlISI 316L) 1
77 | O-ring (plug) 1
FPM [5
78 | O-ring (plug) [o] 1
200 |Screw Stainless steel A2-70 class 1SO 3506/1 M 12x45 UNI 5739 10
235 |Washer C70 13 UNI 1751 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 335-336
[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] Quantity =2 for 80-250/55
[3] Quantity =2 for 80-200/30 , 80-200/37 , 80-250/45
Quantity =1 for 80-250/55
[4] Not for H and E version
[5] FPM for H, HW, HSW version
EPDM for E version and Special seals Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG (Not for model 80-250)
EPDM for ES version only model 80-250
[6] Special version: see page 326 and following

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200
ﬁ\ﬁ
0 L |
[@]
0 N~ O
s}
T @ s
,— L <
j—r\| M
M)
< M
@\< @
©
(@]
N N
9
©
o ¥
N N
©
©
o~
o "
@)
(@]
- L 8
[T ™
©
™ 0
(a\]
- |
317

EBARA PUMPS EUROPE S.p.A.



3 SERIES

50Hz

CENTRIFUGAL PUMPS

CONSTRUCTION

Rev. AH
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD
3P | 3LP
1_|Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
3 [Support Cast iron EN-GJL-200-EN 1561
4 |Casing cover EN 1.4301 (AISI 304) I EN 1.4404 (AISI 316L)
6 __|Shaft - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 334
7 [impeller EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) [6]
11 |Mechanical seal Carbon/Ceramic/NBR \ SiC/SiC/FPM [5]
12 |Motor -
19 |Bearing - See table p. 325
20 |Bearing - See table p. 325
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906
32-125, 40-125 158.11x5.34 OR 6625
26 |"0" ring 32-160, 40-160, 50-125, 65-125 NBR [4] FPM 183.52x5.34 OR 6720
32-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 i i
Up to 11 kW 6x6x25
32 |Key 15 kW and above EN 1.4401 (AISI 316) Bx7x30 UNI 6604
33 |Key C 40 8x7x40 UNI 6604
Up to 11kW M16x1.5
34 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474
15 kW and above M20x1.5
42 |Pump support Fe 37 Galvanized EBARA DRAWING
42 A |Base Fe 37 Galvanized
44 |Protection Fe 37 Galvanized
50 |Foot Aluminium / Galvanized steel
58 |Fasting nut -
66 _|Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
67 _|Motor side bearing cover Cast iron EN-GJL-200-EN 1561
72 |Casing ring 1] EN 1.4301 (AISI 304) I EN 1.4404 (AISI 316L)
73 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
91 |Impeller spacer [71 EN 1.4404 (AISI 316L)
92 |"V"ring - VS - 0030
93 |"V"ring - VS - 0030
32-125, 40-125 M 8x30 UNI 5739
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, 65-200 M 10x35 UNI 5739
244 |Pin [3] / ] EN 1.4301 (AISI 304) 4x15

Counterflange kit on request see p. 335-336

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,
50-200/9.2, 50-200/11, 50-200/15

[2] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Only for 65-160/15 and 65-200

[4] FPM for H-HS-HW-HSW version
EPDM for E version and Special Seals Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG, U3U3EGG
U3U3EGG is not available for model 65-160/15 and model 65-200

[5] Special version: see page 326 and following

[6] CF8M — EN 1.4408 (AISI316) material for 65-125 up to 65-200

[7] Only for 32-125/1.1

318

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LP 80-160

75 24 77

===

3 6 20 67 93

11 244

200
200A

66 92 89 19

235

319

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

42

6 20 67 93

11 244 3

200

92 66 89 19

235

FFFFFF

320

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

Rev. AH

SECTIONAL VIEW DRAWING 3LP 65-250, 80-160/200/250

321

EBARA PUMPS EUROPE S.p.A.

=TT



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LP 80-160

N° PART NAME MATERIAL DIMENSIONS STANDARD |Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Shaft EN 1.4404 (AISI 316L) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |Impeller CF8M-EN 1.4408 (AISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [3] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
26 |"O"ring FPM [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 8x7x30 1
33 |Key C 40 8x7x40 UNI'6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
42 |Pump support Galvanized steel EPE DRAWING | 1
42 A |Base Galvanized steel EPE DRAWING| 1
44 |Protection Galvanized steel EPE DRAWING | 1
50 |Foot Aluminium EPE DRAWING | 2
50 A |Spacer for pump / /
50 B |Spacer for pump / /
50 C |spacer for protection / /
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 [Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM (2] 1
89 |Snap ring Carbon tool steels TC 80 40 UNI 7435 1
92 ["V"ring 1
93 ["V"ring ) VS-0030 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200 A|Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 335-336

(1]
(2]

[3] Special version: see page 326 and following

Not for H and E option.
FPM for H, HW, HSW version

EPDM for E version, Q1AEGG, Q1Q1EGG, Q1U3EGG, U3CEGG.

For drawing see p.319

322

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS |STANDARD | Q.TY
1 |Casing CF8M-EN 1.4408 (AISI 316) 1
3 |Support Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4401 (AISI 316) 1
4 A |Screw for casing cover EN 1.4301 (AISI 304) 2
6 |Shaft EN 1.4462 (Duplex stainless steel) - Wet extension 1
6 A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
7 |lmpeller CF8M-EN 1.4408 (AlISI 316) 1
11 |Mechanical seal SiC/SiC/FPM [5] 1
12 |Motor - 1
19 |Bearing - See table p. 325 1
20 |Bearing - See table p. 325 1
24 |Plug EN 1.4404 (AISI 316L) G3/8 1
25 |Plug EN 1.4404 (AISI 316L) G3/8 1
26 |"O"ring FPM [4] 253.36x5.34 OR 6995 1
65-250 1
32 |Key 80200 9724MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 | 1
80-250, d=29 mm 8x7x40 1
33 |Key C 40 10x8x60 UNI 6604 1
. 65-250 1
34 'r:';fe”er g0-200| 94724 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 | 1
80-250| d=29 mm M24x2 1
42 |Pump support Galvanized steel 1
42 A |Base Galvanized steel 1
44 |Protection Galvanized steel 1
50 |Foot (only for 65-250/22kW) Aluminium 2
50 A |Spacer Aluminium [1]
50 B |Spacer Aluminium [2]
50 C |Spacer for protection Aluminium [3]
66 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
67 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
75 |Washer (plug) 1
76 |Washer (plug) EN 1.4404 (AISI 316L) 1
77 |O-ring (plug) 1
78 |O-ring (plug) FPM [4] 1
89 |Snap ring Carbon tool steels TC 80 J 50 UNI 7435 1
92 |"V"ring 1
93 ["V"ring ) VS-0040 1
200 |Screw Stainless steel A2 70 class I1ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1
Counterflange kit on request, see table p. 335-336
[1] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[2] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[3] Not for H and E option.
[4] FPM for H, HW, HSW version
EPDM for E version and for Q1Q1EGG, Q1U3EGG, U3CEGG, Q1AEGG
EPDM for ES version only model 80-250
[5] Special version: see page 326 and following
For drawing see p.320-321
323

=TT

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

CONSTRUCTION 50Hz
Rev. AH
BEARINGS 3(.)M
Pump type
Single Phase Three Phase Pump side Fan side Fan side
50 Hz 50 Hz Single pha. Three pha.
3(.)M 32-125/1.1 M 3(.)M(Z) 32-125/1.1
3(.)M 32-160/1.5 M 3(.)M(Z) 32-160/1.5 6205 6205 6203
3(.)M 32-160/2.2 M 3(.)M(Z) 32-160/2.2
3(.)M(Z) 32-200/3 6205
i 3(.)M(Z) 32-200/4 6206
3(.)M(Z) 32-200/5.5 6306 6206
3(.)M(Z) 32-200/7.5
3(.)M 40-125/1.5 M 3(.)M(Z) 40-125/1.5 6205 6203
3(.)M 40-125/2.2 M 3(.)M(Z) 40-125/2.2 6205
3(.)M(Z) 40-160/3 6205
3(.)M(Z) 40-160/4 6206
- 3(.)M(Z) 40-200/5.5 6306 6206
3(.)M(Z) 40-200/7.5
3(.)M(Z) 40-200/11 6308 6208
3(.)M 50-125/2.2 M 3(.)M(Z) 50-125/2.2 6205 6205 6203
3(.)M(Z) 50-125/3 6205
3(.)M(Z) 50-125/4 6206
3(.)M(Z) 50-160/5.5 6306 6206
3(.)M(Z) 50-160/7.5
3(.)M(Z) 50-200/9.2 6308 6208
3(.)M(Z) 50-200/11
3(.)M(Z) 50-200/15 6309 6309
3(.)M(Z) 65-125/4 6206 6205
3(.)M(Z) 65-125/5.5
3(.)M(Z) 65-125/7.5 6206 6206
- 3(.)M(Z) 65-160/7.5
3(.)M(Z) 65-160/9.2 6308 6208
3(.)M(Z) 65-160/11
3(.)M(Z) 65-160/15
3(.)M(Z) 65-200/15 6309 6309
3(.)M(Z) 65-200/18.5
3(.)M(Z) 65-200/22
3LM 80-160/11 6308 6208
3LM 80-160/15R
3LM 80-160/15 6309 6309
3LM 80-160/18.5
324

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
BEARINGS 3(.)S-3(.)P
Ball bearing Ball bearing
Purp type Pump side | Fan side Pump type Pump . Motor .
Pump side Motorside Pumpside Fanside
3(.)S(2) 32-125/1.1 | 6204-2Z C3| 6204-2Z C3 3(.)P 32-125/1.1 6204-2Z C3 6204-2Z C3
3(.)S(Z) 32-160/1.5 3(.)P 32-160/1.5 6306-2RS1 6206-2RS1
6205-2Z C3| 6205-2Z C3 : : 6205-2Z C3 6205-2Z C3
3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2
3(.)S(2) 32-200/3 | 6206-2Z C3| 6206-2Z C3 3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
3(.)S(Z) 32-200/4 | 6306-2Z C3| 6306-2Z C3 3 .
35 ;szz; 32-200/5.5 EE;E 22 gggg 5 BOBRST | 606ZRsT | OREED | SEES
: = {6208-2Z C3| 6208-2Z C3 . . : 6208-2Z C3 6208-2Z C3
3(.)S(Z) 32-200/7.5 3(.)P 32-200/7.5
3(.)S(Z) 40-125/1.5 -
()S(Z) 6205-27 C3| 6205-22 C3 3()P 40-125/1.5 620522 C3 | 620522 C3
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 6306.2RS 1 6206.2RS 1
3(.)S(Z) 40-160/3 | 6206-2Z C3| 6206-2Z C3 3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)S(2) 40-160/4 | 6306-2Z C3| 6306-2Z C3 3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5
6208-2Z C3| 6208-2Z C3 -
3)5(2) 40-2007 5 3()P 40200775 | 63082RS1 | 63062Rs1 | 020822C3 | 620822C3
3(.)S(Z) 40-200/11 | 6309-2Z C3| 6309-2Z C3 3(.)P 40-200/11 6309-2Z C3 6309-2Z C3
3(.)S(2) 50-125/2.2 | 6205-2Z C3| 6205-2Z C3 3(.)P 50-125/2.2 6205-2Z C3 6205-2Z C3
3(.)S(2) 50-125/3 | 6206-2Z C3[ 6206-2Z C3 3()P 50-125/3 6306-2RS 1 6206-2RS1 6206-2Z C3 6206-2Z C3
3(.)S(2) 50-125/4 | 6306-2Z C3[ 6306-2Z C3 3()P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)S(2) 50-160/5.5 3(.)P 50-160/5.5
3(.)S(2) 50-160/7.5 |6208-2Z C3| 6208-2Z C3 3(.)P 50-160/7.5 6208-2Z C3 6208-2Z C3
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 6308-2RS 1 6306-2RS1
3(.)S(Z) 50-200/11 3(.)P 50-200/11
6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 50-200/15 3(.)P 50-200/15
3(.)S(2) 65-125/4 | 6306-2Z C3[ 6306-2Z C3 3(.)P 65-125/4 6306-2Z C3 6306-2Z C3
3(.)S(2) 65-125/5.5 3(.)P 65125/5.5 6306-2RS 1 6206-2RS1
3(.)S(2) 65-125/7.5 620827 03| 6208.27 C3 3(.)P 65-125/7.5 620627 C3 620827 C3
3(.)S(2) 65-160/7.5 3(.)P 65-160/7.5
3(.)S(2) 65-160/9.2 3(.)P 65-160/9.2
3(.)S(Z) 65-160/11 3(.)P 65-160/11
3(.)S(Z) 65-160/15 3(.)P 65-160/15 6308-2RS 1 6306-2RS1
6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 65-200/15 3(.)P 65-200/15
3(.)S(Z) 65-200/18.5 3(.)P 65-200/18.5
3(.)S(Z) 65-200/22 6311C3 | 6311C3 [1) |3(.)P 65-200/22 6311 C3 6311 C3  |1)
1
SLS €5-250/30 631203 | earecs |V [P 8525080 6310-2RS 1 6308-2RS1 6312 C3 6312 C3 )
3LS 65-250/37 1) | 3LP 65-250/37 1)
3LS 80-160/11 3LP 80-160/11
3LS 80-160/15R 3LP 80-160/15R
- 6308-2RS1 C3 | 6306-2RS1 C3 | 6309-2Z C3 6309-2Z C3
3LS 80-160/15 6309-22 C3 6309-22 C3 3LP 80-160/15
3LS 80-160/18.5 3LP 80-160/185
3LS 80-200/22 6311C3 | 6311C3 [1) |3LP 80-200122 6311 C3 6311 ¢C3  |1)
3LS 80-200/30 1) [3LP 80-20030 1)
X - 6312 C3 6312 C3
3LS 80-200/37 6312C3 | 6312C3 [1) |3LP 80-200/37 6310-2RS1 C3 | 6308.2RS1 C3 1)
3LS 80-250/37 1) | 3LP 80-250137 1)
3LS 80-250/45 6313C3 | 6313C3 [1) |3LP 80-250/45 6313 C3 6313C3  |1)
3LS 80-250/55 6314C3 | 6314C3 [1) |3LP 80-250/55 6314 C3 6314C3  |1)
1) Motor available with lubrificator for regular re-greasing of bearing.

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

MECHANICAL SEAL (standard, H, E and Special version)

L

L1

L2

#d3

¢d1
#d2

$d4

#d5

U@BB%%%

Rev. AH

Version

Pump type

d1

d2

d3

Dimensions

d4 | d5

L1

L2

1
Stationary
seal ring

Material

2
Rotary
seal ring

3
Rubber

4
Frame +
Spring

Standard

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5-9.2-11

22

19

38

31| 37

37.5

27.5

10

65-160/15
65-200

30

24

46

39 | 45

42.5

32,5

10

Carbon

Ceramic

NBR

EN 1.4401
(AISI 316)

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5-9.2-11

22

19

38

31| 37

37.5

275

10

65-160/15
65-200/250
80-160/200

30

24

46

39 | 45

42.5

325

10

80-250

35

29

50

44 | 50

42.5

32.5

10

Carbon

Ceramic

FPM

EN 1.4401
(AISI 316)

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5-9.2-11

22

19

38

31| 37

37.5

275

10

65-160/15
65-200/250
80-160/200

30

24

46

39 | 45

42.5

32,5

10

Carbon

Ceramic

EPDM

EN 1.4401
(AISI 316)

Q1AEGG*

65-160/15
65-200/250
80-160/200

30

24

46

39 | 45

42.5

325

10

Silicon
Carbide

Metallised
Carbon

EPDM

EN 1.4401
(AISI 316)

* The drawing is only indicative

326

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

MECHANICAL SEAL (L version 922)

1/

[ ‘
Yoo N
[
N ™~
o~ 1 N
= =
—
Material
Version Pump type _1 2 3 4
Stationary Rotary Frame
. . Rubber .
seal ring seal ring + spring
32-125/160/200
40-125/160/200
L 022 50-125/160/200 sic sic FPM (i:‘é: '341567T1i)
65-125
65-160/7.5-9.2-11

327

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
MECHANICAL SEAL (L version 30-35)
L
L1 L2
| E‘\
— % I
; Q NZN -
2 | |
- 4 3 2 1 S ‘ 0
P
ESY { i ESY
] |
o O o N7 =avIll
L__J yA \ﬁ
7 |
\
! I
Dimensions Material
Version | Pump type ! 2 3 4
POYPe 1 41 | a2 | d3 | d4 | d5 | L | L1 | L2 | Stationary| Rotary Rubber  Frame
seal ring | seal ring + spring
65-160/15
L 230 |[65-200/250 30 | 24 | 44 | 39 | 45 (425| 31 |115 . . EN 1.4571
80-160/200 Sic SIC | FPM 1 aisi 316Ti)
L 235 |[80-250 35 | 29 | 49 | 44 | 50 |42.5| 31 |[11.5
328

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

MECHANICAL SEAL (HS version and Special version 922)

S 4 2 1 3

KI Mh
CRERRLLITTS oo

RITIII ‘;
R R ARRRX
SERRRIBBIE (IR
XK R JSRES] )
e A DN

022
|
|
|
57

A
0% N

RIS
| XX XXX
z::::::z:z.s‘ .' K

B 28.5 9
B 37.5 -
Material
1 2 3 4
Version Pump type .
Stat|or_1ary Rota‘ry Rubber Frame
seal ring | seal ring + spring
32-125/160/200
40-125/160/200
HS 222 50-125/160/200 SiC SiC FPM (/I?\:\ISI1341567'|'1|)
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200 .
QI1AEGG*  [50-125/160/200 sic | Metallised | pppyy | EN1.4401
Carbon (AISI 316)
65-125
65-160/7.5-9.2-11

* The drawing is only indicative

329

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

MECHANICAL SEAL (HS version 230)

p44
|
»> —0
-
]

$30
$24
|
\f/

N
N
N

?39

945

Material
Version Pump type s ,1 2 3 4
tat|or.1ary Rota.ry Rubber Frame
seal ring | seal ring + spring
65-160/15 . . EN 1.4571
HS @ 30 65-200 SiC SiC FPM (AISI 316 Ti)

330

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

MECHANICAL SEAL (HW, HSW and Special version)

L

B y/%@ ]

3d3

od1
$d2
i
|
|
|
|
|
|
i
pd4
#d5

Buiad™ o=

Dimensions Material
1 2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 | Stationary Rotary Frame

seal ring seal ring Rubber + spring

Version Pump type

32-125/160/200
40-125/160/200
50-125/160/200 22 19 | 38 | 31 37 |37.5|27.5] 10
65-125

HW 65-160/7.5-9.2-11
65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 |425]|325] 10
80-160/200
80-250 35 ] 29 | 50 | 44 | 50 [42.5]32.5] 10
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 |37.5|27.5] 10
65-125

HSW 65-160/7.5-9.2-11
65-160/15
65-200/250 30| 24| 46 | 39 | 45 |42,5]|325] 10
80-160/200
80-250 35| 29 | 50 | 44 | 50 |42.5]32.5] 10
32-125/160/200
40-125/160/200
U3U3EGG* |50-125/160/200 22 | 19| 38 | 31 | 37 |37,5|27,5] 10
65-125
65-160/7.5-9.2-11
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38 | 31 | 37 |37,5|27,5] 10
65-125 Silicon Silicon EN 1.4401

65-160/7.5-9.2-11 Carbide Carbide EPDM (AISI 316)

65-160/15
65-200/250 30 | 24 | 46 | 39 | 45 |425]|325] 10
80-160/200

32-125/160/200
40-125/160/200
50-125/160/200 22 19 ] 38 | 31 37 |37,5|27,5] 10
65-125 Silicon Tungsten EPDM EN 1.4401
65-160/7.5-9.2-11 Carbide Carbide (AISI 316)
65-160/15
65-200/250 30| 24| 46 | 39 | 45 |42,5]|325]| 10
80-160/200

32-125/160/200
40-125/160/200
50-125/160/200 22 19 ] 38 | 31 37 |37,5|27,5] 10
65-125 Tungsten Silicon EPDM EN 1.4401
65-160/7.5-9.2-11 Carbide Carbide (AISI 316)
65-160/15
65-200/250 30| 24 | 46 | 39 | 45 [42.5|325] 10
80-160/200

* The drawing is only indicative

Tungsten Tungsten FPM EN 1.4401
Carbide Carbide (AISI 316)

Tungsten . EN 1.4401
Carbide Sic FPM (AISI 316)

Tungsten Tungsten EN 1.4401
Carbide Carbide EPDM (AISI 316)

Q1Q1EGG*

Q1U3EGG*

U3CEGG*

331

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
MECHANICAL SEAL (ES version)
42.5
32.5 10
o 7NN\
Lo
N 4 5 2 1 3
Te) [®)) B B B _ _ < (@}
N N / < (@]
| o o R
) U kL (—j
Material
Pump type 1 2 3 4
PP Stationary | Rotary R Frame +
. . ubber :
seal ring | seal ring Spring
. EN 1.4401
80-250 Carbon SiC EPDM (AlSI 316)
332

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

FLUID TEMPERATURE RANGE

The fluid temperature range depends on:

o Material of the elastomers
e Type of fluid pumped
e Material of the sealing faces

for each combination of these parameters the fluid temperature range may be different.

SEALING FACES MATERIAL

CERAMIC-CARBON ALL (excpet ceramic-carbon)
g NBR -10°C 90°C -10°C 90°C
g EPDM -10°C 90°C -10°C 120°C
2 FPM -10°C 75°C -10°C 75°C*t

MIN MAX MIN MAX

FLUID TEMPERATURE RANGE

"In case of fluids not containing water, the temperature limit could be increased to 110°C

Therefore, the fluid temperature range is related to the choice of the mechanical seal and its materials.

STANDARD TEMPERATURE OPTIONAL TEMPERATURE SPECIAL TEMPERATURE

mechanical seal MIN MAX mechanical seal MIN MAX mechanical seal MIN MAX
STANDARD -10°C 90 °C H -10°C 75°C Q1AEGG -10°C 120 °C
STANDARD HS -10°C 75°C U3U3EGG -10°C 120 °C
(LVERSION) 10e e HW -10°C 75°C Q1Q1EGG -10°C 120 °C
HSW -10°C 75°C Q1U3EGG -10°C 120 °C
E -20°C 90 °C U3CEGG -10°C 120 °C

ES -20°C 120°C
333

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz
Rev. AH
COUPLING
L
Set screw UNI EN ISO 4029
— o | = Tt
| L1 |
< = weﬁk% H———— 9=
Pump type Power Motor Dimensions mm
kW] | (HP] | Size | d | d1 | d2 | d3 M Ll b h | Setscrew

32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12

334

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

FLEXIBLE COUPLING

3

s +— A
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Pump type Power Motor Dimensions mm

Kw] | P | size | a1 b1 h1 d2 b2 h2

32-125/1.1 1.1 1.5 80 24 27.3 19 6 21.8

32-160/1.5 1.5 2 90 24 27.3 24 8 27.3

32-160/2.2 2.2 3 90 24 27.3 24 8 27.3

32-200/3.0 3 4 100 24 27.3 28 8 31.3

32-200/4.0 4 5.5 112 24 27.3 28 8 31.3

32-200/5.5 5.5 7.5 132 24 27.3 38 10 41.3

32-200/7.5 7.5 10 132 24 27.3 38 10 41.3

40-125/1.5 1.5 2 90 24 27.3 24 8 27.3

40-125/2.2 2.2 3 90 24 27.3 24 8 27.3

40-160/3.0 3 4 100 24 27.3 28 8 31.3

40-160/4.0 4 5.5 112 24 27.3 28 8 31.3

40-200/5.5 55 7.5 132 24 27.3 38 10 41.3

40-200/7.5 75 10 132 24 27.3 38 10 41.3

40-200/11 11 15 160 24 27.3 42 12 45.3

50-125/2.2 2.2 3 90 24 27.3 24 8 27.3

50-125/3.0 3 4 100 24 27.3 28 8 31.3

50-125/4.0 4 5.5 112 24 27.3 28 8 31.3

50-160/5.5 55 7.5 132 24 27.3 38 10 41.3

50-160/7.5 7.5 10 132 24 27.3 38 10 41.3

50-200/9.2 9.2 12.5 132 24 27.3 38 10 413

50-200/11 11 15 160 24 27.3 42 12 45.3
50-200/15 15 20 160 24 27.3 42 12 45.3
65-125/4.0 4 5.5 112 24 27.3 28 8 31.3

65-125/5.5 5.5 75 132 24
65-125/7.5 7.5 10 132 24
65-160/7.5 7.5 10 132 24
65-160/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

00| 00|00 |00 |00 |Co (00|00 |00 0o|00|C0(00|00|C0|00|00|00 (00|00 |C0( 00 |00|00|C0 | 00| 00|C0(C00|00|C0|0

65-160/11 11 15 160 24 27.3 42 12 45.3
65-160/15 15 20 160 24 27.3 42 12 45.3
65-200/15 15 20 160 24 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 27.3 42 12 45.3
65-200/22 22 30 180 24 27.3 48 14 51.8
65-250/30 30 40 200 32 10 35.3 55 16 59.3
65-250/37 37 50 200 32 10 35.3 55 16 59.3
80-160/11 11 15 160 24 8 27.3 42 12 453
80-160/15R 15 20 160 24 8 27.3 42 12 453
80-160/15 15 20 160 24 8 27.3 42 12 453
80-160/18.5 18.5 25 160 24 8 27.3 42 12 45.3
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4

335

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. AH
FITTINGS
COUNTERFLANGE ZINCKED STEEL
F
‘ E
| — |
=YL
I I O | ‘ |
J oow
L
SN N° Holes 218
Counterflange Screw
DN D E F H H1 L M SN | DIMENSIONS MATERIAL
32 | G11/4] 100 | 140 15 | 115 | 67 50 4
40 | G11/2| 110 | 150 | 175 | 115 | 72 58 4 1655
50 | G2 125 | 165 | 19 15 89 70 4 X Gv. Steel 8.8
strenght class
65 | G21/2| 145 | 185 | 23 14 104 | 88 4 1SO 898-1
80 | G3 160 | 200 | 24 16 | 117.5 | 100 8 M16x60
100 | G4 180 | 220 | 29 16 144 | 125 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
E
D
SN N° Holes 18 ‘ |
I
I
- L )
O
‘ L
F
Counterflange Screw
DN D E F H H1 L M SN | DIMENSIONS MATERIAL
32 | G11/4] 100 | 140 | 295 | 14 66 44
40 | G11/2| 110 | 150 | 295 | 14 71 | 505
50| G2 | 125 | 165 | 34 16 83 63 4 M16x55 A2-70 class
ISO 3506-1
65 | G21/2| 145 | 185 | 40 16 103 | 80
80 | G3 160 | 200 | 42 18 122 92 8 M16x60

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

CONSTRUCTION 50Hz

Rev. AH

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

SN N° Holes 218 ‘
NI
|

=

H oM

- |- -5

o

Counterflange Screw
DN D E F H H1 L SN | DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 | 20 | 150 | 8 M16x70 |50 3506-1

GASKET

DN M M1

32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

Thickness 7

Material : EPDM for standard version
FPM for L version

337

% E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3(.)M 32, 40, 50, 65-125/160

o
n Z-918
T /-918
y M o~
[¥o) p
T pm
-
- —| = | . T
5 & 3 | =S
) 2 =
'i D/@ )
Fig. 1 '
9. ' |
|
St M o|%
©O|=
Fig. 2
9 @
25
Dimensions (mm) Weight
Model o|lo| oo z o|o|o| o H3 B c Vi V2 Ikafl
DN1| P1 K1 D1 | S1|[1]]| [2] | DN2| P2 K2 D2 | S2|Fig.| H H1 H2 | [1~] | [3~] R | W M N1 N2 A [~ | [3~] [1~] [3~] [3~] [3~] [1~] 1~ [3~]
32-125/1.1 (M) 50 95 125 | 165 | 16 | 4 - 32 75 100 | 140 | 14 1 252 | 112 | 140 | 141 | 119 | 80 | 70 | 114 | 140 | 190 | 213 | 433 | 431 | 219+230 232 - PG 13.5| M20x1.5| 21,5 | 24,1
32-160/1.5 (M) 50 95 125 | 165 | 16 | 4 - 32 75 100 | 140 | 14 1 292 | 132 | 160 | 141 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 433 | 431 | 219+230 232 - PG 13.5| M20x1.5| 235 | 27
32-160/2.2 (M) 50 95 | 125|165 | 16| 4 | - 32 75 | 100 | 140 | 14| 1 | 292 | 132 | 160 | 141 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 446 | 431 | 219+230 232 - PG 13.5| M20x1.5| 29 28
32-200/3.0 50 95 125 | 165 | 16 | 4 - 32 75 100 | 140 | 14| 1 340 | 160 | 180 - 124 | 80 | 70 | 119 | 190 | 240 | 296 - 471 - 244+255 - PG 13.5 - - 35,1
32-200/4.0 50 95 125 | 165 | 16 | 4 - 32 75 100 | 140 | 14 1 340 | 160 | 180 - 141 | 80 | 70 | 119 | 190 | 240 | 296 - 494 - 253 - PG 16 - - 38,2
32-200/5.5 50 95 | 125|165 | 16| 4 | - 32 75 | 100 | 140 | 14| 1 | 340 | 160 | 180 - 150 | 80 | 70 | 119 | 190 | 240 | 296 - 519 - 275 M20x1.5| PG 16 - - 52,2
32-200/7.5 50 95 125 | 165 | 16 | 4 - 32 75 100 | 140 | 14| 1 340 | 160 | 180 - 150 | 80 | 70 | 119 | 190 | 240 | 296 - 539 - 275 - PG 16 - - 60,1
40-125/1.5 (M) 65 | 115 | 145 | 185 | 16 | 4 - 40 80 110 | 150 | 14 1 252 | 112 | 140 | 141 | 119 | 80 | 70 | 114 | 160 | 210 | 213 | 433 | 431 | 219+230 232 - PG 13.5| M20x1.5[ 22 | 24,6
40-125/2.2 (M) 65 | 115 | 145 | 185 | 16 | 4 | - 40 80 | 110 | 150 | 14| 1 | 252 | 112 | 140 | 141 | 119 | 80 | 70 | 114 | 160 | 210 | 213 | 446 | 431 | 219+230 232 - PG 13.5 | M20x1.5| 25.5 | 26,1
40-160/3.0 65 | 115 | 145 | 185 | 16 | 4 - 40 80 110 | 150 | 14| 1 292 | 132 | 160 - 124 | 80 | 70 | 118 | 190 | 240 | 254 - 471 - 244+255 - PG 13.5 - - 26,6
40-160/4.0 65 | 115 | 145 | 185 | 16 | 4 - 40 80 110 | 150 | 14| 1 292 | 132 | 160 - 141 | 80 | 70 | 118 | 190 | 240 | 254 - 494 - 253 - PG 16 - - 40,8
40-200/5.5 65 | 115 | 145 | 185 | 16 | 4 | - 40 80 | 110 | 150 | 14| 2 | 340 | 160 | 180 - 150 | 100| 70 | 115 | 212 | 265 | 296 - 539 - 275 M20x1.5| PG 16 - - 52,5
40-200/7.5 65 | 115 | 145 | 185 | 16 | 4 - 40 80 110 | 150 | 14| 2 340 | 160 | 180 - 150 | 100| 70 | 115 | 212 | 265 | 296 - 559 - 275 - PG 16 - - 59,3
40-200/11 65 | 115 | 145 | 185 | 16 | 4 - 40 80 110 | 150 | 14| 2 340 | 160 | 180 - 178 | 100| 70 | 115 | 212 | 265 | 296 - 595 - 330 - PG 21 - - 69,6
50-125/2.2 (M) 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16| 2 292 | 132 | 160 | 141 | 119 | 100| 70 | 114 | 190 | 240 | 254 | 446 | 451 | 219+230 232 - PG 13.5| M20x1.5| 305 | 32
50-125/3.0 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16| 2 292 | 132 | 160 - 124 | 100| 70 | 114 | 190 | 240 | 254 - 491 - 244+255 - PG 13.5 - - 30,9
50-125/4.0 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16 | 2 | 292 | 132 | 160 - 141 [ 100 | 70 | 114 | 190 | 240 | 254 - 514 - 253 - PG 16 - - 40,9
50-160/5.5 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16 | 2 340 | 160 | 180 - 150 | 100| 70 | 115 | 212 | 265 | 296 - 539 - 275 M20x1.5| PG 16 - - 46,5
50-160/7.5 65 | 115 | 145 | 185 | 16 | 4 50 95 125 | 165 | 16| 2 340 | 160 | 180 - 150 | 100| 70 | 115 | 212 | 265 | 296 - 559 - 275 - PG 16 - - 58,6
50-200/9.2 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16 | 2 360 | 160 | 200 - 178 | 100| 70 | 115 | 212 | 265 | 296 - 595 - 330 - PG 21 - - 63,9
50-200/11 65 | 115 | 145 | 185 | 16 | 4 - 50 95 125 | 165 | 16 | 2 360 | 160 | 200 - 178 | 100| 70 | 115 | 212 | 265 | 296 - 595 - 330 - PG 21 - - 69,6
65-125/4 80 | 134|160 | 200 | 18| 8 | 4 | 65 | 115 | 145 | 185 | 16| 2 | 340 | 160 | 180 - 141|100 | 95 | 140 | 212 | 280 | 254 - 514 - 253 - PG 16 - - ‘ 37,7
65-125/5,5 80 | 134 | 160 | 200 | 18| 8 | 4 65 115 | 145 | 185 | 16 | 2 340 | 160 | 180 - 150 | 100 | 95 | 140 | 212 | 280 | 254 - 539 - 275 M20x1.5| PG 16 - - ‘ 48,7
65-125/7,5 80 | 134 | 160 | 200 | 18| 8 | 4 65 115 | 145 | 185 | 16 | 2 340 | 160 | 180 - 150 | 100 | 95 | 140 | 212 | 280 | 254 - 559 - 275 - PG 16 - - 52,1
65-160/7.5 80 | 134|160 | 200 | 18| 8 | 4 | 65 | 115 | 145 | 185 | 16| 2 | 360 | 160 | 200 - 150 | 100 | 95 | 140 | 212 | 280 | 296 - 559 - 275 - PG 16 - - 55,3
65-160/9,2 80 | 134 | 160 | 200 | 18| 8 | 4 65 | 115 | 145 | 185 | 16 | 2 360 | 160 | 200 - 178 | 100 | 95 | 140 | 212 | 280 | 296 - 595 - 340 - PG 21 - - 61
65-160/11 80 | 134 | 160 | 200 | 18| 8 | 4 65 115 | 145 | 185 | 16 | 2 360 | 160 | 200 - 178 | 100 | 95 | 140 | 212 | 280 | 296 - 595 - 340 - PG 21 - - 67,4
[1] Standard [2] On request [1~] Only for single phase [3~] Only for three phase

400

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. AH
PUMP 3(.)M 50-200, 65-160/15, 65-200
B
D2
P2
DN2 PG21 296
© H
“/_\Hé% 7 |18
(B
N4 2 o
o~
‘_7 T 720N T / T
S| a % : I \\ ¢/ I : J
| 3 % -
p— — - NS T
p Fig. 1 2 J /;\;
1l ; ;
100 499.5 20 Q 4 - 915
25 w 2 - 915 N |
M N2
- b
L4
H = ol o
|1
| Fig2 || |J| |
Il Il g_j U
c 254 25 &
0 M R
4-a15 A —
L4
I [
Dimensions [mm]
Weight
Model o | o| o |@ z o |o| 0| @
i kgf
N1 | P1 | k1 | Dt | st | 1) @2 | onz | P2 | k2 | D2 Fig.| H | H1|H2| W | M|NT|N2| B| C | L1|L2]|L3| L4]| [kof]
50-200/15 65 |115|145(185| 16 | 4 | - | 50 | 95 (125|165 2 |360|160|200| 70 | 115| 212|265 | 723 | 190.5| 254 | 318 | 65 | 304 | 105.1
65-160/15 80 |134|160[200| 18 | 8 | 4 | 65 |115|145(185| 2 |360|160|200| 95 | 140 | 212|280 | 732 |199.5| 254 | 318 | 65 | 304 | 107.1
65-200/15 80 |134|160[200| 18 | 8 | 4 | 65 |115|145(185| 1 |405|180|225| 95 | 140|250 | 320 | 732 254|314 | 60 | 345 110.1
65-200/18.5 | 80 |134|160|200| 18 | 8 | 4 | 65 |115|145|185| 1 |405|180|225| 95 | 140 | 250 | 320 | 732 254|314 | 60 | 345| 125.3
65-200/22 80 |134|160[200| 18 | 8 | 4 | 65 |115|145(185| 1 |405|180|225| 95 | 140|250 320 | 732 254|314 | 60 | 345| 136.1

[1] Standard [2] On request

401

=TT

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3LMZ 32, 40, 50-125/160/200/9.2/11, 65-125/160/7.5/9.2/11

B
A
o~
n
y o~
o T
1 T
= T
S al & o
] W
T
S
M1 ) M2
4-¢18
EE— o
—F v
- _
~ O _\——H F o=
<<
=z ™ —j——r/ @ 00|=
Dimensions (mm)
Weight
Model 0| 2|2 | 0 0| 2| 2|0
DN1| P1 | K1 | D1 | S1 DN2| P2 | K2 | D2 [S2| H | H1 | H2 | H3 | R | M1 | M2 N2 | A| B| C V1 V2 Kgf
32-125(1.1 | 50 | 95 [ 125] 165 | 16 32 | 75 [ 100 140 [ 14| 252 | 112 [ 140 [ 119 [ 80 | 32.5] 212 190 | 213 [ 431 ] - - M20x1.5] 24.1
32-160/1.5 | 50 | 95 | 125 | 165 | 16 32 | 75 | 100 | 140 | 14| 292 | 132 | 160 | 119 | 80 | 42 | 200 210 | 254 | 431 | - - M20x1.5| 27
32-160/2.2 | 50 | 95 | 125 ] 165 | 16 32 | 75 | 100 | 140 | 14| 292 | 132 | 160 | 119 | 80 | 42 | 200 210 | 254 | 431 - B M20x1.5| 28
32-20013.0 | 50 | 95 [ 125] 165 | 16 32 | 75 [ 100 | 140 | 14| 340 | 160 | 180 | 124 [ 80 | 39 | 205 220 | 296 | 471 | - - M20x1.5| 35.1

32-200/4.0 50 | 95 | 125 | 165 | 16 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 141 | 80 | 39 | 205 220 | 296 | 494 - - M20x1.5| 38.2
32-200/5.5 50 | 95 | 125 | 165 | 16 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 150 | 80 | 39 | 205 220 | 296 | 519 - | M20X1.5| M25x1.5| 52.2
32-200/7.5 50 | 95 | 125 | 165 | 16 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 150 | 80 | 39 | 205 220 | 296 | 539 | 275 | PG 13.5| PG 16 60.1
40-125/1.5 65 | 115 | 145 | 185 | 16 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 119 | 80 | 32.5| 212 190 | 213 | 431 - - M20x1.5| 24.6
40-125/2.2 65 | 115 | 145 | 185 | 16 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 119 | 80 | 32.5| 212 190 | 213 | 431 - - M20x1.5| 26.1
40-160/3.0 65 | 115 | 145 | 185 | 16 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 124 | 80 | 42 | 200 210 | 254 | 471 - - M20x1.5| 26.6
40-160/4.0 65 | 115 | 145 | 185 | 16 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 141 | 80 | 42 | 200 210 | 254 | 491 - - M20x1.5| 40.8
40-200/5.5 65 | 115 | 145 | 185 | 16 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 150 | 100| 39 | 205 220 | 296 | 539 - | M20X1.5| M25x1.5| 52.5

40-200/7.5 65 | 115 | 145 | 185 | 16
40-200/11 65 | 115 | 145 | 185 | 16

110 | 150 | 14 | 340 | 160 | 180 | 150 | 100| 39 | 205
40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 178 | 100| 39 | 205

220 | 296 | 559 | 275 | PG 13.5| PG 16 59.3
220 | 296 | 595 | 360 | PG 13.5| PG 21 69.6

50-125/2.2 65 | 115 | 145 | 185 | 16 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 119 | 100| 42 | 200 210 | 254 | 451 - - M20x1.5 32
50-125/3.0 65 | 115 | 145 | 185 | 16 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 124 | 100| 42 | 200 210 | 254 | 491 - - M20x1.5| 30.9
50-125/4.0 65 | 115 | 145 | 185 | 16 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 141 | 100| 42 | 200 210 | 254 | 514 - - M20x1.5| 40.9
50-160/5.5 65 | 115 | 145 | 185 | 16 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 100| 39 | 205 220 | 296 | 539 - | M20X1.5| M25x1.5| 46.5

50-160/7.5 65 | 115 | 145 | 185 | 16
50-200/9.2 65 | 115 | 145 | 185 | 16
50-200/11 65 | 115 | 145 | 185 | 16
65-125/4 80 | 134 | 160 | 200 | 18
65-125/5,5 80 | 134 | 160 | 200 | 18
65-125/7,5 80 | 134 | 160 | 200 | 18
65-160/7,5 80 | 134 | 160 | 200 | 18
65-160/9,2 80 | 134 | 160 | 200 | 18
65-160/11 80 | 134 | 160 | 200 | 18

50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 100| 39 | 205
50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205
50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205
65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 141 | 100| 42 | 200
65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | 100| 42 | 200
65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | 100| 42 | 200
65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 150 | 100| 39 | 205
65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205
65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205

220 | 296 | 559 | 275 | PG 13.5| PG 16 58.6
220 | 296 | 595 | 360 | PG 13.5| PG 21 63.9
220 | 296 | 595 | 360 | PG 13.5| PG 21 69.6
210 | 254 | 514 - - M20x1.5| 37.7
210 | 254 | 539 - | M20X1.5| M25x1.5| 48,7
210 | 254 | 559 | 275 | PG13.5| PG 16 52.1
220 | 296 | 559 | 275 | PG 13.5| PG 16 55.3
220 | 296 | 595 | 370 | PG13.5| PG 21 61

220 | 296 | 595 | 370 | PG13.5| PG 21 67.4

FAR IR R R N EN N PN PN N BN N S S N NS EN N EESESESEY RN R
N
S
@
S

ol lololo|o|o|o|olo|lo|lo|o|o|e|lo|lo|lo|o|o| oo o|lo|e|o|o|o|n

402

E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3LMZ 50-200/15, 65-160/15, 65-200

B
PG21
7 e
N
| o~
=
— ) x
5 P —— K
5 o
@
Fig. 1 |l
Hi|
100 151.5 350 16 8 318
4 - 914
- 3 %
382

254
314

&

N
i
N
H1

254 ‘ 25 <
4 - 914

-0 3 X},*
304 ‘

I L

Dimensions [mm]

Model (4] g | 0|9 %] 2| Q| @
DN1 | P1 | K1 | D1 | $1 DN2 | P2 | K2 | D2

Weight
Fig.| H | H1 | H2| B ¢ [ kaf]

z
50-200/15 65 | 115|145|185| 16 | 4 50 | 95 |125|165| 2 |360| 160| 200|723 | 190.5| 105.1
65-160/15 80 |134|160|200| 18 | 8 65 | 115|145 185| 2 | 360|160 |200|732| 199.5| 107.1
65-200/15 80 |134|160|200| 18 | 8 65 | 115|145|185| 1 | 405|180 | 225|732 - 110.1
65-200/18.5 80 |134|160|200| 18 | 8 65 | 115|145|185| 1 | 405|180 225|732 - 125.3
65-200/22 80 |134|160|200| 18 | 8 65 | 115]145|185| 1 | 405|180| 225|732 - 136.1

403

% E2ARA EBARA PUMPS EUROPE SpaA.



¢ 225

CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3LM 80-160/11

@ 200

g 135

DN80Q

[

PG13.5

PG21 8-

225

405

¢ | 259

Weight: 100 kgf

404

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PUMP 3LM 80-160/15R/15/18.5
¢ 200
9 135 147 173
PG21
DN8O 8-918 2-G3/8
o PG21 —
D ! f f
(0 A s
St x4 [Te)
& r] 8 i ___!_ L 2 | =
o s 2 ( ‘ = 1 %180
— . oo m— 8
o 2
24 | d
o
95 N 4-415 65
|
125 250
125 499.5 20 320
757
345
3 + + H—
2-915 <« <
e 7
Weight:
80-160/15R :  130.1 kgf
80-160/15:  131.1 kgf
80-160/18.5 : 145.3 kgf
405

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3(.)S 32, 40, 50

B
D2
P2
DN2 A
o
» 4-918
)
LB
1 -6 2
] | {[oomo _
5 & z - — — i
- 00000
b | 1B |
L E—H
Fig.1 —_— ,t Id 5
|
R | C Ll 15
70 : 2-410
16 M i
o o0
= i
Fig. 2 B
9 &
25
Dimensions [mm] Weiaht
eigl
Model
ode Dﬁ1p®1 ggDﬁzfzgng2 Fig.| H | H1 | H2 | H3 | R M | N1T|N2| A B C V1 V2 Kef

32-125/1.1 | 50 | 95 | 125|165 | 32 | 75 | 100 | 140 | 14
32-160/1.5 | 50 | 95 | 125|165 | 32 | 75 | 100 | 140 | 14
32-160/2.2 | 50 | 95 | 125|165 | 32 | 75 | 100 | 140 | 14
40-125/1.5 | 65 | 115 | 145 | 185 | 40 | 80 | 110 | 150 | 14
40-125/2.2 | 65 | 115|145 | 185 | 40 | 80 | 110 | 150 | 14
50-125/2.2 | 65 | 115 | 145|185 | 50 | 95 | 125 | 165 | 16

252 | 112|140 | 139 | 80 | 114 | 140 | 190 | 213 | 430 | 174 | M25x1.5 | M20x1.5 24.7
292|132 1160 | 148 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 29.8
292 1132 1160 | 148 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 324
252 |1 1121140 | 148 | 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 26.5
252 | 112 | 140 | 148 | 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 29.6
292 | 132 | 160 | 148 | 100 | 114 | 190 | 240 | 254 | 497 | 186 | M25x1.5 | M20x1.5 329

[ [N N [P NG N

406

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3(.)S 32, 65

B

D2
P2 M25x1.5 A
N

o ﬁ M20x1.5 =98

[%2]

C )
e g
sl & 2 =
E
. w
Fig. 1
R 22,5
S1

| 4011
|
BRI f "

1 ’q g

”s W ‘ 185 o o

M H 0

Dimensions [mm]
Weight
Model @ o12]8@ z @ g1o1@ Fi H|HI|H2|H3| R|W|M|NI|N2| A|B | C|LI|L2]|L3
DN1| P1| K1 |D1|S1|[1]|[2]1|DN2| P2 | K2 | D2 |S2 o Kgf
32-200/3.0| 50 | 95 | 125|165| 16| 4 | - | 32 | 75 | 100| 140| 14| 1 | 340|160 180|155 80 | 70 | 119| 190| 240| 296 | 528 | 205 | 160 | 202 | 42 46.9
32-200/4.0 | 50 | 95 | 125|165| 16 | 4 | - | 32 | 75 | 100| 140| 14| 1 |340|160| 180| 171| 80 | 70 | 119| 190 | 240 | 296 | 550 | 212 | 190 | 228 | 38 49
65-125/4.0 [ 80 | 134| 160| 200| 18 | 8 4 65 | 115|145|185| 16| 2 |[340|160| 180 | 171| 100| 95 | 140| 212 | 280 | 254 | 570 | 212| 190 | 228 | 38 50.1

[1] Standard  [2] On request

407

5 E2ARA EBARA PUMPS EUROPE SpaA.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. AH

PUMP 3(.)S 32, 40, 50, 65

ysenbai uQ [zg]

psepuess [1]

GIL | GUXZEW | GIXZEW | -] - | - | -] - | -] - [88]0SE]0ce[0S2] - [ - |00L| - |892]G2z|08L]S0¥] € | 9F [S8L|SvL|SLL] SO | ¥ ] 8 8L [00Z]09L|¥EL] 08 | 22/002-G9
zlgl | sIXopN | G LxovIN (09| vie[vSe| vl |0se|oz | 1z9]0s8|0se|0ze|05e| ovl [S6|001 [0z |8ez|szz|08l[Sov| 2 | 9t [esL|swi[Sii| 9 [ ¥ | 8| 8L [o0z|09L|¥EL| 08 |S8L/002-G9
8cl | S'IXOvW | S'LXOpIN_|09]pLE|¥Se| 1| 0se|0z] 129]908|0s€E [0zE|0S2| vl |S6[001 |0z [8€z|See|08L|S0r| ¢ | 91 [G8L[GPLGLL| G9 | ¥[8 [ 8L [00z[09) ¥EL] 08 | G1/002-59
88 | S LXZEW | G LXCEWN |0G|99Z|9lz|zh|022|S)]64r[299]00€[08Z (22| Ov) |S6]001|82]86+]002|09L[09€] ¢ | 91 |G8L[SPL|SLL] SO | ¥ | 8 | 8L |00Z|09) ¥EL| 08 | ¢'6/09L-9
ve8 | S1xzeW | s'ixgeW |0s|99z|91z|zL|0szS1L 6L [ 2¥9[00e|08Z|21Z| OVl [S6[00L 8z 861 00Z[09L[09e| Z | 91 [s8i|svL|GLL| S9 | ¥ | 8| 8L [o0z|09k|veL| 08 | G2/091-69
v'6L | SLXZEN | S'IxzeW |05]99z|91z|zL[0sesL[6.v[2p9[00e|082|21Z] OVl [S6[00L[8z|86)[08L[0oL[ove| Z | 9L [s8i[svL[GLL[ S9 [ ¥[8 8L [00z[09L[vel[ 08 | &2/5z1-69
09 | sixeeW | gixee |05 |99z|9iz|zl[0/z|SL|64r|229|00€E 08Z|2h2] o) |se[00L|8z[86L]08L|09L|0vE| 2 | 91 [G8L[GpL[SLL| G9 | ¥[8 | 8L [00z[09L ¥EL| 08 | S'G/STL-S9
106 | S1X2EN | S'hxgeW |os[99z9Lz|zL[0se[SL[6.v[299]00e[S9z|Ziz] GLL [02]00)][8z |86l 00z[09L[09e] Z | 9L [Soi[seh[S6 [ 0S [ - [ v | 9L [s8i[svi[gLL[ 69 | z6/002-08
16 | SLXCEN | S IXZEW |05]992|912|2L]0/2]SL[6Lv]¥9]00E[S9z|2hz] St |02]00)] 8z [86)]084]09L]0VE] ¢ | 9F |S9L[Geh|[S6 | 0S | - | v | 9F |S8L|Gwk|ShL] G9 | SZ2/091-0S
8'€9 | GIXZEW | G IXZEW |05|992|912|cl[0Le|GL[6Lp[/29[00E[S9z|2hz] it |04]00} |8z |86} [08L[09L[0VE| ¢ | OF [S9L[Geh[S6 [ 0S | - [ v | 9b [S8L[Gwi[GHL[ G9 | 6'6/091-0S
96y | §1X0ZN | S'IXGzZW |0s|ove|06L |zl [0zl [s6e[0.5[¥Se|0v2|06k] 1L [02[00L[0z| 121 09t 2L 26e| ¢ | 9L [Sot[sel[S6 [ 05 [ - [ v | 9L [sei[svi[gLL[ g9 | ov/szi-08
G'GE | G'LX0ZN | S'IXGZW |0v|00z|091 |2t |0zz S |88¢|8¥S| ¥Se|0v2 |06l | iL |02]00) 2 |SS) 09} 2ek|262] ¢ | 9b [S9k[Geh[ 6| 0S | - [ v | oL [s8i|swi[GhL] 69 | 0°€/5zi-08
28 | SLXCEW | G IXCEW |0G|99z|9lz[zk|02z[S)]6.r|Zr9]00E[S9z]2e] GhL |0Z]00L|8z|861]08L|09L[0vE] ¢ | ¥L |0GL[0LL] 08| OF | - | ¥ | 9L |G8}|GvL|SLL]| S9 | SZ2/002-0F
Z2l | SIXTEN | SIXZEW |0S]99z2|912|2l[04e[G1L[6Lv[/29[00E|S9z|2hz] it |04]00} 8z |86} [08L[09L[0VE| ¢ | pL [0GL[OLL[ 08 O | - [ ¥ | 9b [S8L[GwL[GHL[ G9 | G'S/002-0F
9vy | §1X0ZN | S'IXGZW |0s|ove|06l |zl [0zl [g6e[0ss| Sz |ovz|06L] 8kl [02] 08 [oz|1zL[09t[zel]26e| L | vL [0st[ovL[ 08| o [ - [ ¥ | 9L [s8i[svi[GLL[ G9 | 0/091-0F
Gz | S1X0ZN | S'IXGZW |0v|00z|09L |2t |0zz|SL | 88¢ 82| ¥Se|ovz| 061 | 811 |02] 08 [z GGk 09} zek|262] + | vL [0sk[obk[ 08| Oov | - [ v | oL [s8i|swi[GLL[ 69 [ 0°€/091-0p
78 | SIXZEW | G IXCEW |0S|99z|9tz[zk|02z|SL]6.¥[Z29]00E [0z |06)] 6LL |0Z] 08 |82|861]08L|09L|0¥E] L | ¥L |OVL[00L| G2 | 2€ | - | ¥ | 9L |S9L|Seh] G6 | 0S | SZ2/002-2E
81/ | SIXZEN | S IXgEW |05]99z|912|zL[0/2[SL[6.¥[209]00E|0r2|06L] 611 [02] 08 [8Z|86)|08+[09L[0VE| + | ¥L [OWL[00L[SGZ [ 2€ | - | ¥ | 9L [S9L[Gzh|S6 | 06 | §'S/00z-2€
2S |za|ed|ed |eNa|lel|[L]| 1s | 1a || Ld|INa
ZA WA |e1lz1||olo 4o a| VvV |eN|IN| W [M|[Y |pH{eH|gH |IH| H |Bid 500
[16%] glo|lo|o| z o|o|o| | PPN
pTSIETYY [ww] suoisuswig
(oY) N
& o 002
far ="
& 3 &
(54
R 74 [E74 62¢
N
~
S =
- 9
, N , o W S
IN ) N
7 E] 7 2 7 d M [5q
, ; I m Il | B4 _
8I8-7 o oo 4
- £ - l
ks k&
v i 5
_— 00000000 T [ARLE
— —_— H0BB00580 2 ==
—— 00000000 =
—— 100000008+
100000000
& f it

<

<A

4

408

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3(.)S 40, 50, 65

350

I

H3
H2

D1

NS -
= =
Z-918 iﬁ
i [ i g
4-919 70
240
25 310

Dimensions [mm]
Pumptype | @ | @ | @ | @ z g |2 |0|@
DN1 [P1 | K1 {D1|S1|[1]|[2]|DN2|P2|K2|D2]| S2
40-200/111 | 65 [115|145|185| 16 - | 40 | 80 |110|150| 14 | 382|160| 180|238| 110 | 796 | 831 | 117.8
50-200/11 | 65 |115]|145|185| 16 - 50 | 95 |125|165| 16 | 402| 160|200| 238| 110 | 796 | 831 | 117.8
50-200/15 | 65 |115]|145|185| 16 50 | 95 |125|165| 16 | 402| 160|200| 238| 110 | 796 | 831 | 147.9
65-160/11 | 80 |134]160|200| 18 4 | 65 |115]/145|185| 16 | 402|160|200|238(122.5| 796 | 844 | 86.8
65-160/15 | 80 |134|160|200| 18 4 | 65 | 115|145|185| 16 | 402| 160| 200|238 |122.5| 806 | 854 | 120.9

Weight
H|{HI|H|H| W B F | [kaf]

[o=l o= I = N S I
'

[1] Standard [2] On request

409

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH
PUMP 3LSZ 32-125/160, 32-200/3/4, 50-125/2.2, 65-125/4
B
D2
P2 M25x1.5 A
N
o Pz M20x1.5 L8
J T 1 4
J_ﬁ" — [® © []
I : 7}‘/7 e g
] _ | | (%) 2
N il > -
o ol o ouuuny 1
[— il || | — S
1 B | B *:[—]:m - ') -
, P L ; al==—fa
R 119 ‘
c D E
M1 M2 4-918
= e
A 4-gF « /é
=
o g = o DN2
E2) _) 1\ | . |
SH |
P -
Dimensions [mm] Weight

DN1 | P1 K1 D1 | s1
32-125/1.1 | 50 | 95 | 125 | 165 | 16
32-160/1.5 | 50 | 95 | 125 | 165 | 16
32-160/2.2 | 50 | 95 | 125 | 165 | 16
32-200/3.0 | 50 | 95 | 125 | 165 | 16
32-200/4.0 | 50 | 95 | 125 | 165 | 16
50-125/2.2 | 65 | 115 | 145 | 185 | 16
65-125/4.0 [ 80 | 134 | 160 | 200 | 18

[%)
DN2 | P2 | K2 | D2 | S2 F Kgf
32 | 75 | 100 | 140 | 14 | 252| 112|140 | 139 | 80 | 213 | 430 | 168| 100| 15 9 | 130| 205 | 225| 32.5 | 117 | 190| 24.7
9
9

32 | 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186| 125| 25 170|210 | 230| 42 | 105|210 29.8
32 | 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186| 125| 25 170|210 230| 42 | 105|210 324
32 | 75 | 100 | 140 | 14 | 340| 160 | 180| 155| 80 | 296 | 528 | 205| 140| 22.5 | 11 | 185| 160 | 202| 41 |106|210| 46.9
32 | 75 | 100 | 140 | 14 | 340| 160 | 180 | 171| 80 | 296| 550 | 212| 140| 22.5 | 11 | 185|190 | 228 | 41 | 106 | 210 49
50 | 95 | 125 | 165 | 16 | 292| 132 | 160 | 148 | 100 | 254 | 497 | 186 | 125| 25 9 | 170 210| 230| 42 |105|210| 32.9
65 | 115 | 145 | 185 | 16 | 340| 160 | 180 | 171| 100 | 254 | 570 | 212| 140| 225 | 11 | 185| 190|228 | 42 |[105|210| 50.1

CAENIESIFNIFN NS FNY N

410

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. AH
PUMP 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5, 50-125/3/4, 50-160
50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2
B
D2
P2 A
DN2 vi V2 7-918
o
T
By
e}
] N
! - i3 T = g
_ 1 1100 () )
| = E nn / | =
o ol a iy ) /
iy )
1 S peil Y 2]
00 Q
] - H < T
dl 15
EIWE T
<§ Tz .
S = A=A
R 19
15
M1 M2
" .
N —! {—|
—
E—— L
~ O —| o~
=zl 2 n O3
- ‘ G ‘
VL= |
J 457' -
Dimensions [mm]
Weight
Model 2 [] %] [] %] a (%] %]
H |HI |H2 | H3 | H4 | R| A | B c |F|l G || 2|3 |mM|mM]|N
DN1| P1 | Ki | D1 |s1| z |DN2| P2 | K2 | D2 | 82 Kgf
32-200/55 | 50 | 95 | 125 | 165 | 16 | 4 | 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 198 | 28 | 80 | 300 | 607 | 479 | 12 [ 270 [ 216 [ 266 | 50 | 41 | 106 | 210 | 718
32-200/7.5 | 50 | 95 | 125 | 165 | 16 | 4 | 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 198 | 28 | 80 | 300 | 627 | 479 | 12| 270 [ 216 | 266 | 50 | 41 | 106 | 210 87
40-125/15 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 252 [ 112 | 140 | 148 | 22 | 80 | 213 | 477 [ 342 | 10 | 186 | 140 | 185 | 45 [ 325 117 [ 190 | 265
40-125/22 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 252 [ 112 | 140 | 148 | 22 | 80 | 213 | 477 [ 342 | 10| 186 | 140 | 185 | 40 [ 325 117 [ 190 | 295
40-160/3.0 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 155 | 32 | 80 | 254 | 528 | 387,5| 12 | 220 | 160 | 200 | 50 | 42 | 105 | 210 | 425
40-160/4.0 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 171 | 20 | 80 | 254 | 550 | 394,5 | 12 | 220 | 190 | 240 | 50 | 42 | 105 | 210 | 446
40-200/5.5 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12 | 270 | 216 | 266 | 50 | 41 | 106 | 210 | 722
40-200/7.5 | 65 | 115 | 145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 647 | 479 | 12 | 270 | 216 | 266 | 40 | 41 | 106 | 210 82
50-125/3.0 | 65 | 115 | 145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 155 | 32 | 100 | 254 | 548 | 387,5 | 12 | 220 | 160 | 200 | 50 | 42 | 105 | 210 | 355
50-125/4.0 | 65 | 115 | 145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 171 | 20 | 100 | 254 | 570 | 3945 | 12 | 220 | 190 | 240 [ 50 | 42 | 105 [ 210 | 456
50-160/5.5 | 65 | 115 | 145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12| 270 | 216 | 266 | 50 | 41 | 106 | 210 | 6338
50-160/7.5 | 65 | 115 | 145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 647 | 479 | 12| 270 | 216 | 266 | 50 | 41 | 106 | 210 91
50-200/9.2 | 65 | 115 | 145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 667 | 479 | 12| 270 | 216 | 266 | 50 | 41 | 106 | 210 | 907
65-125/5.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 627 | 479 | 12| 270 | 216 | 266 | 50 | 42 | 105 | 210 60
65-125/7.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 198 | 28 | 100 | 300 | 647 | 479 | 12| 270 | 216 | 266 | 50 | 42 | 105 | 210 | 794
65-160/7.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 647 | 479 | 12 | 270 | 216 | 266 | 50 | 41 | 106 | 210 | 824
65-160/9.2 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 667 | 479 | 12 | 270 | 216 | 266 | 50 | 41 | 106 | 210 88

411

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PUMP 3LSZ 40-200/11, 50-20011/15, 65-160/11/15, 65-200
B
M40x1.5
/i A
e —]
F ~m
- N
pu g
— g
s = . L
3 o
s 5]
;’ Fig. 1 \:}
| | |
100 c \ 350 || 16 o
t N
o 8 At
= |
? ‘ 382 |
D i+ B3
4 FORI ¢ 15
—— 3 :
AN ] :
i K T ~—__<X_ 17—
‘ 329 ‘/ 241 ’ 24.5 \ 279 \ N
4 FORI 8 15 /| 300 ‘ 348
Dimensions [mm)]
Weight
Model o | 9| 0| @ g | 9| @ | @
Fig.| H | H2 | H3 | A B | C | [kdfl
DN1| P1 | K1 | D1 |S1| Z |DN2| P2 | K2 | D2 | S2
40-200/11 65 | 115|145 | 185 | 16 | 4 | 40 | 80 | 110 | 150 | 14 | 1 | 360 | 180 | 238 | 350 | 796 | 258 | 117.8
50-200/11 65 | 115|145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 117.8
50-200/15 65 | 115|145 | 185 | 16 | 4 | 50 | 95 | 125 | 165 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 147.9
65-160/11 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 86.8
65-160/15 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 380 | 200 | 238 | 350 | 806 | 268 | 120.9
65-200/15 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 405 | 225 | 238 | 350 | 806 | 268 | 138
65-200/18.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 405 | 225 | 238 | 350 | 850 | 268 | 137.2
65-200/22 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 2 | 405 | 225 | 268 | 360 | 885 | - 175

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PUMP 3LS 80-160
# 200
8 135 175 175
M40x1.5
N8O, M40x1.5 8-918 2-63/8
i
T 1 J ;
1 BE .
— N
L] a7 e N o
| || e ———— © 5
n [Te] o
Q g8 8 Jif ! onoonnnnonoy] | [ .= Q
BT = I ‘ it S=———-= T [ o180
10000000000000) N
— | et i 2 g
\ o ¥
‘ i ‘ /| A A
24 - i - L ¥ TT
o
li_J N 4-¢15 65
125 20 250
| N
125 621 320
B
‘ 350
«
‘ 3
N
2 | - - )
3 =
At H
Weight
Pump type B H3 G
ptyp [kgf]
80-160/11 831 238 317 145.8
80-160/15R 831 238 317 157
80-160/15 831 238 317 157
80-160/18.5 875 238 317 151.2

=TT

EBARA PUMPS EUROPE S.p.A.



3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. AH

PUMP 3LS 65-250, 80-200, 80-250/37

414

- =
N
¢N
IN
LN (4
- | ﬂ V
= ® :
3
L / I s | - o
(]
=
= N . -
N \ 7 o
\ T
8/£9-7 8l9—8
4] v ¢d
¢a
GEE | STLXOVIN | GLXOPIN | 2L | 6L | BBE \G'LZ | 69E |6L0L| 002 | 00Z | 8SE | 08 | 88€ | 8LE | SOE | 08 | 09L | 00F | GLe | 02 | G2L | Gz | SL | 00€ | 082 | 002 | 08¥ | 2z | 00z | g€l |2 B4 08| vz | Gez | 08L | GGL | 00L L€/0G2-08
20z |Suxeen [SixzeW | v | 6L | 09e |Gve | 62€ | 016 | 8L | 2L |00 | G2 | 8ve | 6.2 | Lye | S9 [ G2l | Ssve | 08z | g6 |Gzl | Lz | €L |89z | 0sz | 08k | oy | 22 | 00z | el |2 B4 08| vZ | Sez | 08l | SS) | 0oL 2¢/002-08
0z€ |SLXOpIN | GLXOPIN | 2L | 6L | 66E \Gb2 | LE | 996 | 002 | 002 | 8SE | 08 | 88€ | 8L€ | SOE | 08 | 09) | 09€ | 08Z | 0Z) | 00L | Gz | I | 00€ | 052 | 00Z | 06 | 0z | 8L | 0zL | L B4 G9| 2z | 00z | 09L | GEL | 08 1€/062-69
€0e [ SLxopN [ S uxovN | 2L | 6L | 66€ | Gle | Lve | 996 | 002 | 00z | 8se | 08 | 88 | gie | oe | 08 | 091 | 09¢ | 082 [ 0ZL [ 00L | Sz | SL | 00g | 05z | 00z | 0S¥ | 0z | 8L | 0zL [L B4 g9| 2z | 00z | 091 | geL | 08 0€/052-69
[16%] A A saleal 9 (=] o] ] YW ST |eT| 11 T JMWN| W |ZN | IN| M ¥ |SH|VH | €H | 2H | IH H |2S|cd|zad ZNa 1S | 1A | M| Ld [ING
1 adA) dwng
yBlom [ww] suoisuswiqg

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

¢ 225

Rev. AH
PUMP 3LS 80-200/30/37, 80-250/45
4 200
Vi
8 135 8-918 A A2
V2
N DN8Q / 2-63/8
o~ II 7 \I
‘ N
AN /
24
o~
7B q: [—m- T—r— % =
™ I
88 | ——— N R W=
- & = 1 : e
T i
mm: L T
7 x
L (S *
~—L , n n
(T [ T i
T T T T
n
T 4-¢D3 M1
N1
L [F1 N2
B
L5
3
4 e o
4-417
- ~
TR T hi]
Pump type Dimensions [mm] V\E:'%ht
H H1 | H2 | H3 |HA|H5] W | N1 | N2 | M | M1 L L1 | L2 |L3| L5 | A1 | A2 B C F1 G |D3 V1 V2 <
80-200/30 | 450|200 | 250 | 300 | 20 25| 95 | 280 | 360 | 130 | 80 | 305| 318 | 388 | 80 | 358 | 200 | 200| 991 | 341 | 21.5 | 399 | 14 | M40x1.5| M40x1.5| 306
80-200/37 | 450 | 200 [ 250 | 300 | 20 | 25| 95 | 280 | 360 | 130 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200| 991 | 341 | 21.5| 399 | 14 | M40x1.5|M40x1.5| 325
80-250/45 | 505|225 |280|335|25 (28| 120 | 315|415 | 165 | 100 | 311 | 356 | 436 | 80 | 386 | 225 | 225| 1060 | 385 | 37.5 | 465 | 18 | M50x1.5| M50x1.5| 401

415

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

9 225

¢ 155

AT

PUMP 3LS 80-250/55

Rev. AH

850 26

Weight: 489 kgf

500

100

275 275
2-63/8
] 8-918
! : o
N S
@
o
w0 o
[ N [ — - - ©
s w
Z S
o
o
‘ | B
| \
2 4-919 ©
315
405
©
o
w

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3(.)P 32, 40, 50, 65

H
CH IH 0S

7-918

A
ﬁf%
=

L
%5
%
o~
21

G
=%

D
¥ \

'\
7-¢18

{ ‘
S

N
= —
o 0
©
b
< <
v
~ M
— > ~
= u“’j z
~ \{
) g v
S «w¥
S =9
| LS
ST
M D ©
m — —
w| - 22
> >
j = j =
S o

360

D2
P2 _
DN2
r.

N
5| g ;
B (
o[
O,
4-¢18

D
(758
e/
DN2
For dimensions see table pag. 418

417

5 E2ARA EBARA PUMPS EUROPE SpaA.




50Hz
Rev. AH

ysenbasup [g]  puepuels [1]

3 SERIES

PUMP 3(.)P 32, 40, 50, 65

- G IXZEN |G LXZEIN| 0001 | 09€ | 0G| 0L | 008|00)| 289 |0GLL| 962|001 |892|S522|08L| SS¥ |9L|S8L|SPL|SLL| S9 | ¥ | 8 |8L|00Z|09L|pElL| 08| 22/002-G9
- G'LXO¥IN |G LX0IN| 0001 | OEE| 02| 08€| 008|001 | 259|SLLL|962|00L| 8€Z|SCC|08)| GG |9L|G8L|GYL|SLL| S9 | ¥ | 8 [81|00Z|09L|vEL| 08| S'81/002-G9
- S’ LX0pIN |G LXOPIN| 000L | 0EE | 02| 08€ | 008|00L| 809 |L20L|962|00L|8EC|SGCC|08L| GG¥ |9L|S8L|SPL|SGLL| S9 | ¥ | 8 |8L|002|09L|¥EL| 08| G1L/002-G9
- G'LX0¥IN |S°LX0¥IN| 0001 | OEE| 02| 08€| 008|001 | 809 L L0L|962|00L| 8€Z|00Z |09)| OLY |9L|G8L|GYL|SLL| S9 | ¥ | 8 81| 002|09L|vEL| 08| GL/09L-G9
- S’ LX0pIN |G LXOPIN| 0001L | 0EE | 0Z1| 08€ | 008|00L| 809 |L20L|962|00L|8EC|00Z|09L| OLY |9L|G8L|SYL|SLL| G9 | ¥ | 8 |8L|00Z|09L|¥bEL| 08|  LL/09L-G9|
- G'LXZEW |G LXCEIN| 068 | 00€| 06€ | 0SE| 059|001 | 28| S¥6 |962|00L| 864|002 |09)| OLY |9L|G8L|GYL|SLL| S9 | ¥ | 8 81| 00Z|09L|vEL| 08| 2'6/091-G9
- G'LXZEW |G LXZEIN| 068 | 00€| 06€|0SE| 069|001 | 2hy| S06 |962|00L| 864|002 |09L| OLY |9L|S8L|GYL|SLL| G9 | ¥ | 8 |8L|00Z|09L|veL| 08| S L/09L-59
- G'IXZEW |G LXZEIN| 068 | 00€| 06€ | 0SE| 059|001 | 2hy| GO6 | ¥S2|00L| 8614|081 |09)| 06€ |9L|G8L|GYL|SLL| S9 | ¥ | 8 81| 00Z|09L|vEL| 08| S'2/STL-G9
66 | SIXZEN |G LXCEIN| 0S8 | 00€|06€E|0SGE|059|00}| Z¥y| S06 | ¥S2|00L| 861|081 |09L| 06€ |9L|S8L|SPL|SLL| S9 | ¥ | 8 |8L|00Z|09L|¥EL| 08| S'S/STL-G9
1'G8 [ G'LXOC |S'LXGZIN| 0GZ | 00€|06€ | 0SE|06S| 08 |88€| LG8 |¥S2|00k| F4L|08) |09)| 06E |91 |G8L|SYL|SLL| S9 | | 8 |81|00Z|09L|vEL| 08 ¥/SC1-G9
- S LXOPIN |G LX0PIN| 0001 | 0€€ | 02| 08€| 008|00}| 809 | L20L|962|00L|8EZ|00Z|09L| OL¥ |9L|S9L|S2L| G6 | 0S| - | ¥ |9L|G8L|SPL|SLL| G9| S1/002-0S
- G'LX0¥IN |S°LX0FIN| 0001 | OEE| 02| 08€| 008|001 | 809 1201 |962|00L| 8€Z|00Z |09}| OLY |9L|G9L|GZL| G6 | OGS | - | ¥ |91|G8L|GYL|GLL| §9| 11/002-0S
- G'LXZEW |G LXZEIN| 068 | 00€| 06€|0SE| 059|001 | 28| S¥6 |962|00L| 864 |00C|09L| OLY |91L|S9L|GZL| G6 | 0G | - | ¥ |9L|S8L|SYL|SLL| G9| ¢'6/002-0S
- G'LXZEW |G LXCEIN| 068 | 00€| 06€ | 0SE| 059|001 | 2hy| G06 |962|00L| 8614|081 |09)| 06€ |9L|G9L|GZL| G6 | 0S5 | - | ¥ |91|G8L|SYL|GLL| §9| §'2/091-0S
86 | SIXZEN |G LXCEIN| 0S8 | 00€ | 06€E|0GE|059|00}| Zhy| S06 | 962|00L| 861 |08L|09L| 06€ |9L|S9L|S2L| G6 | 0S | - | ¥ |9L|G8L|SPL|SLL| G9| S'S/09L-0G
9'%8 | S'IX0CN |G LXGZIN| 062 | 00E| 06€ | 0SE| 06S| 08 |88€| LG8 |¥S2|00L| b4 |09L |2€EL| 2PE |9L|G9L|G2L| G6 | 0S | - | ¥ |91|G8L|GYL|GLL| §9 ¥/SC1-09
G'C8 | SLX0ZN |SLXGZIN| 0GZ | 00E| 06€ | 0SE| 06S| 08 | 99€| 628 | #52|00L| GG} |09L |ZEL| 2PE |9L|GOL|GZL| G6 | 0S | - | ¥ |91|G8L|GYL|GLL| S9 €/5¢1-09
G/, | SLX0ZIN |G LXSZIN| OLZ |00€| 06E|0SE| 0GS| 08 | LLE| 082 | ¥GZ|00L|8YL|09L |2EL| 2VE |91 |S9L|GZL| S6 | 0G | - | ¥ |9L|S8L|S¥L|GLL| S9| ZT/STL-0S
- S'LXOVIN |G LXOPIN| 0001 | 0S€| 0Z+ | 08€| 008|00L|809| L20L|962|00L| 8EZ|08L |09L| 06E | #L|0SL|OLL| 08 | OV | - | ¥ |9L|G8L|SYL|GLL| G9| 1L/00Z-0%
- G IXZEN |G LXZEIN| 0S8 | 00€ | 06€|0GE|0G9|00}| Zh| S06 | 962|001 |86 |08L|09L| 06€ | #L|0SL|OLL| 08 | OF | - | ¥ |9L|G8L|SPL|GLL| S9| S 2/002-0F
86 | GIXCEN |SLXCEIN| 0S8 | 00€ | 06€ | 0SE| 059|001} | Zvy| S06 | 962|001 | 861|081 |09L| 06€ |¥1|0GL|OLL| 08 | OF | - | ¥ |9)|G8L|SPL|SLL| §9| G'9/002-0F
9'/9 | S'LX0ZN |SLXGZIN| 0GZ | 00€|06E|0SE|06S| 08 |88€| LES |¥SZ| 08| LLL|09L |2EL| 2VE | ¥L|0GL|OLL| 08 | OV | - | ¥ |9L|G8L|GYL|SLL| G9 ¥/091-0%
18 | SIXOZN |G LXSZN| 0SZ | 00€| 06€E|0SE| 06G| 08 |99€| 608 | #S2| 08 |SS)H| 091 [2EL| ZVE | L |0SL|OLL| 08 | OF | - | ¥ |9L|S8L|SPL|GLL| S9 €/091-0%
LG | S LX0ZIN |G LXG2IN| OLZ |0S2|0¥E|00E|0SS| 08 | ZLE| 092 |€1LZ| 08 |8FL|O¥L|ZLL| 20E [¥L|0GL|OLL| 08 | OF | - | ¥ |9L|S8L|GYLIGLL| G9| Z'2/Sel-OF
8’67 | G'LX0ZIN |SIXSCIN| OLL |0SZ|0¥E|00€|0SS| 08 | ZLE| 092 |€Lg| 08 |8FL|0FL |ZLL| 20E |¥L|0GL|OLL| 08 | OF | - | ¥ |9L|G8L|SYL|GLL| G9| GL/SZL-O0F
- G IXZEN |G LXCEIN| 0S8 | 00€ | 06€|0GE|059|00}| Zhy| S88 |962| 08 | 8614|081 |09L| 06€ | L |0¥L|00L| G2 | 2 | - | ¥ |9L|S9L|G2L| 66| 0S| S 2/002-2€
16 | SIXCEN |G LXCEIN| 058 | 00€ | 06€ | 0SE|0S9|00}| Zhy| S88 | 962 08 | 861|081 |09L| 06€ | ¥L|O¥L|00L| G2 | 2€ | - | ¥ |9)|G9L|G2)| 66 | 0S| G'G/002-C€
L'6. | §'LX0CN |G IXGZIN| 062 | 00€| 06€| 0SE| 06S| 08 |88€E| 1€8 |962| 08| 1L2L|08L|09L| 06E |¥L|OVL|00L| G2 | 2€ | - | ¥ |91 |59l |GZL| S6 | 0S ¥/002-2€
G'LL | SLXOZN |SLXGZIN| 0GZ | 00€|06E | 0SE| 06S| 08 | 99¢| 608 |962| 08 | GGL|08L |09L| 06€ | ¥L|OVL|00L| GL | 2 | - | ¥ |91|S9L|GZL| 66 | 0G €/002-2€
G'€S | G'IX0CN |SLXGZIN| 062 | 00€| 06E| 0SE|06S| 08 | ZLE| 09 |¥S2| 08 |81k |09L |CEL| 2VE | ¥L|OVL|00L| GL | 2€ | - | ¥ |91|G9L|GZL| 66| 0G| 2'2/09L-CE
€7G | SIX0CN |SLXGZIN| 062 | 00E|06€|0SE|06S| 08 | ZLE| 09 |¥S2| 08 |81k |09L |ZEL| ZVE | ¥L|OVL|00L| GL | 2€ | - | ¥ |91|G9L|GZL| 66| 0G| S'L/09L-CE
LGy | G'LXOZN |SLXGZIN| 012 | 0SZ|0VE|00€|0SS| 08 |2/2| GLZ [€12| 08 |6EL|0VL|2LL| 20 |¥L|OVLI00L| G2 | 28 | - | ¥ |9L|GS9L|szL| 66| 0G| L L/Szi-2e
161 A A Llenlanlinl s lalial a v lulenlzulinl b ZS|za| ey | zd |eNallzl| Ll 1s| 1a| M| Ld INa
g 2| 93| @ Z g\|10|9 |09 [ET]
wbrom
[ww] suoisuawig

CENTRIFUGAL PUMPS
DIMENSIONS AND WEIGHT

418

EBARA PUMPS EUROPE S.p.A.




3 SERIES

CENTRIFUGAL PUMPS

50Hz

DIMENSIONS AND WEIGHT

Rev. AH

PUMP 3LP 65-250, 80-160/200/250

(o))
-—
118 | SLXOVIN| S'LXOPIN | 8 |61 - |00ZL| 0001 |66E|0L7|89299€) |09F|06S|0£G|SZL| 09|00€|08Z|002|0vS| 22|002|GEL| ¢ B4 08 | ¥Z|G22|08L|SSL| 00L| ££/062-08 <
6GZ | SLXZEW | S'LXZEN | 8 |61 - |00ZL|000L|09€|0LY|289|S82) |09F|06S|0£G|SZL| 09|892|06Z|081L|06%| 22|00Z|GEL| ¢ B4 08 | ¥Z|G22|08L|SSL| 00L| 22/002-08
Z'18L | S'LXOPN | GLXOVIN | G |S1|0Z|000L| 008 |ZLE|09€|2G9|0FLL|0EE|0ZY|08€E|SG2L| 06|8€2|G22|08L|SSY| 22 |002|SEL| Z "Bi4 08 | ¥2|S2z|08L|SSL| 00k | S81/091-08
981 | SLXOVIN | S'LXOPIN | S |SL|0Z|000L| 008 |ZL€|09€|809| 9601 |0£E|021|08€E|SZL| 0S|8€Z| 522|081 |SSY| 22|002|GEL| ¢ *Bid 08 | ¥Z|G22|08L|SSL| 00L| SL/09L-08
981 | SLXOVIN | S'LXOPIN | G |SGL|0Z|000L| 008 |ZL€|09€|809| 9601 |0£E|021|08€E|SZL| 0S|8€2|S2Z|081L|SSY| 22|002|GEL| ¢ *Bid 08 | ¥Z|G22|08L|SSL| 001 | USL/09L-08
8'vLL | SLXOVIN | GLXOVIN | G |SL|0Z|000L| 008 |ZL€|09€|809|9601L |0SE| 02| 08E|SZL| 0S|8€2|S2Z|08L|SSY| 22 |00Z|S€EL| Z 61 08 | ¥2|S22|08L|GSL| 001 L1/091-08
€1 | S IXOVN | SLXOPIN| 8 |6L| - |00ZL|000L|66€|0LY|892| LYEL|09%|06S|0€S| 00L|09|00€0S2|002|0LG|0Z|S8L|0ZL| L BI4 69 | 2Z|00Z|09L|SEL| 08 1€/0G2-S99
$GE | S LXOVN | SLXOPIN | 8 |6L| - |00ZL|000L|66€|0LY|892| LYEL|09%|065|0€S| 00L|09|00€|052|002|0LG|0Z|S8L|0ZL| L BId G9 | 2Z|00Z|09L|SEL| 08 0€/0G2-99
6 7)) LA dsivals| L 3 (90|19 9@ |EN|ZN|IN| d [PH|EH|ZH|LH| H |2S|2a|cd ¢Nad LS| 1aj | Ld |INa
L] adA} dwng
Wb [ww] suoisuswiq
¢N 1
IN E| 00!l
¢N vas—v J d
T
>
=
T 2 B =
T
S
IS

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

9 225

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PUMP 3LP 80-200/30/37, 80-250/45
B
8 200 B1
N80, 2-G3/8
24 ' 8-918 {
= ‘ g
%
8 g S =
sl & he 2180
T
o
3
® 460
100 1000 530
1200 590
Pump type Dimensions [mm] Weight
[kf]
H H1 H2 H3 B B1 G S V1 V2
80-200/30 | 510 | 180 | 250 | 300 | 1366 | 768 | 399 20 | M40x1.5| M40x1.5| 356
80-200/37 | 510 | 180 | 250 | 300 | 1366 | 768 | 399 20 [ M40x1.5| M40x1.5| 365
80-250/45 | 565 | 200 | 280 | 335 | 1407 | 809 | 465 25 | M50x1.5| M50x1.5| 440
420

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PUMP 3LP 80-250/55

509

2-G3/8

50
620
680

19¢ q}i
906 | ¢
|
\
|
S—
L 4+
A .
| .
5 = "% ‘
@ E:l I _ﬂ
. i Liép T e ]
o 2
) | i g g
I i
HLjf‘ }
a1 1
|
| =
[44
I d~1 ]
EER =i 5
o e INIEE o
: — ‘0
a4 ||| 5
00ING ©
=

421

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PACKING 3(.)M
Packing [mm] Weight [kgf]
Pump type X Y 4 T;;;(
O~ B 0~13~] [~ B~ | [1~] | [3~]
32-125/1.1 (M) 25 | 29
32-160/1.5 (M) | 280 280| 390 | 360|490 | 470 o5 371 1
32-160/2.2 (M) 360350 535 | 490 | 30,5 | 33,5
32-200/3 41
32-200/4 400 560 44
32-200/5.5 - |339] - © 1605 2
32-200/7.5 410 680 65,6 TYPE 1
40-125/1.5 (M) 360| 480 | 470 | 24,5| 30
40-125/2.2 (M) | 220|280 3%0 350 400 [ 490 [ 205 | 31,5 | | o
40-160/3 288
40-160/4 400 560 46,5
40-200/5.5 - |330] - - 615 2
40-200/7.5 68,1 >
40-200/11 410 680 79,4
50-125/2.2 (M) |280[280|360|350| 535|490 | 32 | 38 1
50-125/3 37 N
50-125/4 400 560 47 —
50-160/5.5 51,5 7
50-160/7.5 330 67,6
50-200/9.2 410 680 735
50-200/11 78,9 TYPE 2
50-200/15 370 440 860 113,1
65-125/4 417 L v
65-125/5.5 400 560 53,2
65-125/7.5 330 56,6
65-160/7.5 - - 410 eso| - 1606 | 2
65-160/9.2 66,5
65-160/11 72,4 .
65-160/15 112,1
65-200/15 115,1
65-200/18.5 440 860 127,3 J t N
65-200/22 370 134,1 1 \%
80-160/11 455 680 105,4 | Z |
80-160/15R 136,1
80-160/15 440 860 1371
80-160/18.5 151,3
422

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. AH
PACKING 3(.)S
Pump type Packing [mm] Weight | Pack
Type
X |y Z Kgf
32-125/1.1 450 | 250 | 300 36,3 1
32-160/1.5 35.9
32-160/2.2 350 | 488 | 580 51
(**) 32-200/3.0 370 | 538 | 680 51.9
32-200/3.0 51.9
32-200/4.0 74.3
32200/5.5 350 | 498 | 700 g5
32-200/7.5 67
40-125/1.5 350 | 488 | 580 33.3 TYP E W
40-125/2.2 45.4
40-160/3.0 49 —
40-160/4.0 76.4
40-200/5.5 350 | 498 | 700 84.2
40-200/7.5 116
40-200/11 390 | 598 | 970 | 146.3 >
50-125/2.2 330 | 493 | 680 37.8
50-125/3.0 49.6
50-125/4.0 47.6
50-160/5.5 350 | 498 | 700 84 —
50-160/7.5 95.7
50-200/9.2 116
50-200/11 390 | 598 | 880 139.9
50-200/15 172.9
65-125/4.0 69 ) TYP E 2
65-125/5.5 77.4
65-125/7.5 350 | 498 | 700 85 —
65-160/7.5 92
65-160/9.2 880 103
65-160/11 107.9
970
65-160/15 390 | 598 138 .
65-200/15 880 147.6
65-200/18.5 970 | 166.5
65-200/22 500 | 727 | 1100 | 235
65-250/30 339 J
65-250/37 480 | 722 | 1080 141 —
80-160/11 156.9 ‘
80-160/15R 370 597 | 860 163
80-160/15 168.6
80-160/18.5 593 | 940 | 2255
80-200/22 284
480
80-200/30 344
80-200/37 722 | 1080 354
. 488
80-250/37 429
80-250/45 517
580 | 822 | 1380
80-250/55 517
(**) Only for “Z” version

=TT

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

Rev. AH

PACKING 3(.)P

Pump type Packing [mm] Weight
Z X Y Kgf
32-125/1.1 394 46.7
32-160/1.5 52.3
434
32-160/2.2 53.5
32-200/3.0 71.5
32-200/4.0 75.1
482
32-200/5.5 97
32-200/7.5 112.2
40-125/1.5 49.8
394
40-125/2.2 51
40-160/3.0 1
434 8
40-160/4.0 67.6
40-200/5.5 98
40-200/7.5 482 | 106.9
40-200/11 127.8
50-125/2.2 75
50-125/3.0 434 82.5
50-125/4.0 84.6
50-160/5.5 98
482
50-160/7.5 106.9
50-200/9.2 111
50-200/11 502 | 128.3
50-200/15 1200 | 800 135.4
65-125/4.0 85.1
65-125/5.5 482 99
65-125/7.5 109.4
65-160/7.5 115.4
65-160/9.2 502 118
65-160/11 124.8
65-160/15 129
65-200/15 137
547
65-200/18.5 135.2
65-200/22 189
65-250/30 354
685
65-250/37 373
80-160/11 174.8
80-160/15R 186
593
80-160/15 186
80-160/18.5 181.2
80-200/22 633 259
80-200/30 356
80-200/37 685 365
80-250/37 377
80-250/45 745 440
80-250/55 811 528

424

5 E2ARA EBARA PUMPS EUROPE SpaA.



CENTRIFUGAL PUMPS SERIES

TECHNICAL DATA 50Hz

Rev. AH

MOTOR DATA 3(.)M

Pump type Power Efficiency Capacitor Efficiency (% load) Input | Full load current Locked rotor
and power factor current
% (kW] [A] [A]
Single Phase [kW] | [HP] | [IE2 / IE3] [uF] V] COSs-@
50% | 75% | 100% 110V | 230V | 110V | 230V
3(.)M 32-125/1.1 M 1,1 1,5 IE2 50 450 66,5 75,5 80,9 0,96 1,47 - 6,7 - 46,4
3(.)M 32-160/1.5 M 1,5 |1 2,0 IE2 50 450 72,4 79,2 81,4 0,96 1,94 - 8,7 - 54,0
3(.)M 32-160/2.2 M 22 | 30 IE2 55 450 76,5 81,5 83,8 0,95 2,72 - 12,3 - 73,0
3(.)M 40-125/1,5 M 1,5 | 2,0 IE2 50 450 72,4 79,2 81,4 0,96 1,94 - 8,7 - 54,0
3(.)M 40-125/2.2 M 22 | 30 IE2 55 450 76,5 81,5 83,8 0,95 2,72 - 12,3 - 73,0
3(.)M 50-125/2.2 M 22 | 30 IE2 55 450 76,5 81,5 83,8 0,95 2,72 - 12,3 - 73,0
Full load current Locked rotor current
Fump type . Efficiency (% loacl} cos phi Input kW]
Power [HP| Efficiency [&] [4]
kW n'a % Three Phase Three Phase
50% 75% 100% 100% 230V ADDY CEDRY 230V 400y Eo0 Y
3(.JMiz) 32-125/1.1 1,1 15 1E3 83,5 84,3 84,6 0,8 1,77 5.8 3,3 % 474 27,4
3(.JM(Z} 32-16D/1.5 1,5 2,0 IE3 B35 84,3 84,6 0,8 VT 5,8 3,3 - 474 27,4
3(.m(z} 32-160/2.2 2,2 3.0 1E3 86,2 87,0 86,0 0,8 2,55 8,2 4,7 - 66,6 33,4
3(.JM(Z} 32-200/3.0 3,0 4,0 1E3 85,2 87,3 87,1 0,8 3,44 11,1 6,4 - 0,0 52,0
3(.Mi{Z} 32-200/4.0 4,0 5.5 1E3 85,8 83,3 B84 0,8 4,52 15,1 8,7 - 131,8 76,1 -
3(.JM(Z} 32-200/5.5 3,5 7.5 IE3 80,2 o0,6 20,4 0,2 6,02 - 10,6 6,1 - 11,3 67,0
3(.M{z} 32-200/7.5 7,5 10,0 1E3 89,0 50,7 50,8 0,9 828 - 13,6 78 - 144,0 83,0
3. MiZ} 40-125/15 1,5 2,0 1E3 83,5 84,3 84,6 0,8 1,77 5,8 3,3 - A74 274
3(.M{Z} 40-125/2.2 2,2 30 IE3 86,2 87,0 86,0 0,8 2,55 8,2 4,7 - 66,6 33,4
3(. (2} 40-160/3.0 3,0 4,0 1E3 85,9 87,5 87,1 0,8 344 11,1 G4 - 200 52,0
3.2} 40-160/4.0 4,0 5.5 IE3 BS,8 23,3 B84 0,8 4,52 15,1 8,7 - 131,8 76,1 -
3(. iz} 40-200/5.5 5,5 7.5 1E3 89,2 20,6 30,4 0,9 6,09 - 10,6 6,1 - 115,3 67,0
302} 40-200/7.5 7.5 10,0 1E3 39,0 o0,7 80,8 0,9 8,26 - 13,6 7,0 - 144,0 33,0
3(.)M{2} 40-200/11 11,0 15,0 1E3 o044 51,2 51,8 0,8 11,98 - 21,3 12,3 - 184,0 107,0
3(.miz} 50-125/2.2 2,2 3,0 1E3 86,2 87,0 88,0 0,8 2,55 8,2 A,7 - 86,6 38,4
3.2} 50-125/3.0 3,0 4,0 1E3 85,2 87,9 87,1 0,8 3,62 11,1 8,4 - 80,0 52,0
3(.miz} 50-125/4.0 4,0 5,5 1E3 35,8 88,3 88,4 0,8 4,52 15,1 8,7 - 131,8 76,1 -
3(. M2} 50-160/5.5 5,5 7.5 1E3 80,2 o0,6 50,4 0,8 6,02 - 10,6 5,1 - 115,3 67,0
3(.JM(Z) 50-16D/7.5 7.5 10,0 IE3 58,0 an,7 an,8 na 5,26 : 13,6 7,8 £ 144,0 53,0
3. M2} 50-200/2.2 9,2 12,5 1E3 o0,1 on,8 50,9 0,8 10,12 - 17,2 10,0 - 166,0 96,0
3. M{z} 50-200/11 11,0 150 IE3 an,4 o1,2 91,8 D8 11,98 < 21,3 12,3 2 134,0 107,0
31.JM{Z} 50-20D/15 15,0 20,0 1E3 9152 92,0 9159 0.2 16,32 - 27,7 17,3 - 225,0 130,0
3[.M[2) 65-125/4 4,0 55 IE3 55,8 83,3 88,4 08 4,52 15,1 8,7 E 131,8 76,1 S
31 M2} 65-125/5.5 5.5 7.5 1E3 80,2 on,6 20,4 0,2 6,02 - 10,6 5,1 - 115,3 67,0
3(.JM(Z) 65-125/7.5 7.5 10,0 IE3 30,0 an,7 30,8 ng 8,26 5 13,6 7.8 ) 144,0 53,0
312} 65-160/7.5 7,5 10,0 1E3 20,0 on,7 20,8 0.2 8,26 - 13,6 7.9 - 144,0 83,0
3{.JM(Z} 65-160/9.2 9,2 12,5 1E3 0,1 50,8 50,9 0.8 10,12 - 17,2 10,0 - 166,0 56,0
3(.JM(Z} 65-18D/11 11,0 15,0 1E3 o4 91,2 91,8 0,8 11,98 - 213 12,3 - 184,0 107,0
3(.)M(Z} 65-160/15 15,0 20,0 1E3 51,2 52,0 51,9 0,9 16,32 - 27,7 17,3 - 225,0 130,0
3(.JM(Z} 85-20D/15 15,0 20,0 1E3 51,2 92,0 8149, 0,2 16,32 - 27,7 17,3 - 223,0 130,0
3.7} 65-200/18.5 18,5 25,0 1E3 51,6 53,0 52,6 0.8 15,98 - 35,0 20,3 - 328,0 150,0
3. JM(Z} 85-200/22 22,0 30,0 1E3 52,0 23,1 93,2 0,2 23,58 - 35,7 23,6 - 391,0 227,0
3L 8D-160/11 11,0 15,0 [[=] 504 51,2 51,8 0,8 11,98 - 21,3 12,3 - 184,0 107,0
3LM 80-160/15R 15,0 20,0 1E3 91,2 52,0 81,9 0,9 18,32 - 27,7 17,3 - 225,0 130,0
LM 80-160/15 15,0 20,0 1E3 91,2 92,0 51,9 0.8 16,32 - 27,7 17,3 - 225,0 130,0
3LM B0-160/18.5 18,3 25,0 1E3 51,6 53,0 32,6 0,8 19,98 - 35,0 20,3 - 328,0 130,0

500

5 E2ARA EBARA PUMPS EUROPE SpaA.




CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA

50Hz

Rev. AH
MOTOR DATA 3(.)S-3(.)P
Motor Efficiency (% load) Full load current Locked rotor current
Pump type Power . Input and power-factor [A] [A]
"g‘f;‘;’ wow] | ey Efficiency | jow n% cos— | 230V | 400V | 690V | 230V | 400 V | 690 V
50% | 75% | 100%
3(.)S(Z) 32-125/1.1 3(.)P 32-125/11 80 1.1 1.5 IE3 1,26 | 78,7 |81,7| 82,7 | 0,76 4,2 24 - 38,7 | 22,3 -
3(.)S(Z) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 IE3 1,77 | 83,2 84,8| 84,2 | 0,85 52 3,0 43,6 | 252 -
3(.)S(Z) 32-160/2.2 3()P 32-160/2.2 9L | 22 | 3 IE3 2,61 |85,0|862| 865 | 0,82 [ 8,0 4,6 73,3 | 423 -
3(.)S(Z) 32-200/3.0 3()P 32-200/3.0 | 100L | 3 4 IE3 345 (823|858 87,1 | 089 | 97 5,6 854 | 49,3 -
3(.)S(Z) 32-200/4.0 3()P 32-200/4.0 | 112M| 4 | 55 IE3 451 186,8|87,8| 881 | 0,93 [ 12,1 7,0 - 116,4 | 67,2 -
3(.)S(Z) 32-200/5.5 3()P 32-200/5.5 1325 |55 7.5 IE3 6,24 |88,0|885]| 89,2 | 0,90 - 10,0 | 58 - 89,0 | 514
3(.)S(Z) 32-200/7.5 3(.)P 32-200/7.5 7.5 10 IE3 8,35 |1 88,6(89,2| 90,1 | 0,92 - 13,1 7,6 - 116,6 | 67,3
3(.)S(Z) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2 IE3 1,77 | 83,2 84,8| 84,2 | 0,85 52 3,0 - 43,6 | 252 -
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 2.2 3 IE3 2,61 |850]86,2| 86,5 | 0,82 8,0 4,6 73,3 | 42,3 -
3(.)S(Z) 40-160/3.0 3()P 40-160/3.0 | 100L | 3 4 IE3 345 (823|858 87,1 | 089 | 97 5,6 854 | 49,3 -
3(.)S(Z) 40-160/4.0 3()P 40-160/4.0 | 112M| 4 | 55 IE3 451 186,8|87,8| 831 | 0,93 [ 12,1 7,0 - 116,4 | 67,2 -
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 132M 55 |75 IE3 6,24 | 88,0|885| 89,2 | 0,90 - 10,0 | 58 - 89,0 | 514
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 75 10 IE3 8,35 |1 88,6(89,2| 90,1 | 0,92 13,1 7,6 116,6 | 67,3
3(.)S(Z) 40-200/11 3(.)P 40-200/11 160M | 11 15 IE3 12,15|87,4 1898 | 91,2 | 0,89 - 19,7 | 11,4 - 179,3 | 103,5
3(.)S(Z) 50-125/2.2 3(.)P 50-125/2.2 90L 2.2 3 IE3 2,61 |1850]86,2| 86,5 | 0,82 8,0 4,6 - 73,3 | 42,3 -
3(.)S(Z) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4 IE3 3,45 (82,3858 87,1 | 0,89 9,7 5,6 854 | 49,3 -
3(.)S(Z) 50-125/4.0 3()P 50-125/4.0 | 112M| 4 | 55 IE3 451 186,8|87,8| 831 | 0,93 [ 12,1 7,0 - 116,4 | 67,2 -
3(.)S(Z) 50-160/5.5 3()P 50-160/5.5 | 132S | 65 | 75 IE3 6,24 |88,0|885]| 89,2 | 0,90 - 10,0 | 58 - 89,0 | 514
3(.)S(Z) 50-160/7.5 3()P 50-160/7.5 75 | 10 IE3 8,35 |88,689,2| 90,1 | 0,92 131 | 7,6 116,6 | 67,3
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 132M | 9.2 | 125 IE3 10,17 | 88,6 | 89,8 | 90,7 | 0,89 - 16,5 9,5 - 166,7 | 96,2
3(.)S(Z) 50-200/11 3(.)P 50-200/11 160M 11 15 IE3 12,15|87,4 1898 | 91,2 | 0,89 19,7 | 114 - 179,3 | 103,5
3(.)S(Z) 50-200/15 3(.)P 50-200/15 15 20 IE3 16,46 {91,011 91,3] 91,9 | 0,89 - 26,7 | 154 - 259,0 | 149,5
3(.)S(2) 65-125/4 3(.)P 65-125/4 112M | 4 [ 55 IE3 451 186,8|87,8| 831 | 0,93 [ 12,1 7,0 - 116,4 | 67,2 -
3(.)S(Z) 65-125/5.5 3()P 65-125/5.5 55 |75 IE3 6,24 |88,0|885]| 89,2 | 0,90 - 10,0 | 58 - 89,0 | 514
3(.)S(Z) 65-125/7.5 3(.)P 65-125/75 | 132S | 7.5 | 10 IE3 8,35 |88,689,2| 90,1 | 0,92 131 | 7,6 116,6 | 67,3
3(.)S(Z) 65-160/7.5 3()P 65-160/7.5 75 | 10 IE3 8,35 |88,689,2| 90,1 | 0,92 131 | 76 116,6 | 67,3
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2 132M | 9.2 | 125 IE3 10,17 | 88,6 | 89,8 | 90,7 | 0,89 - 16,5 9,5 - 166,7 | 96,2
3(.)S(Z) 65-160/11 3(.)P 65-160/11 11 15 IE3 12,15|87,4 1898 | 91,2 | 0,89 19,7 | 11,4 - 179,3 | 103,5
3(.)S(Z) 65-160/15 3(.)P 65-160/15 160M | 15 20 IE3 16,46 {91,011 91,3 | 91,9 | 0,89 26,7 | 154 - 259,0 | 149,5
3(.)S(Z) 65-200/15 3(.)P 65-200/15 15 | 20 IE3 16,46 | 91,0 91,3 | 91,9 | 0,89 26,7 | 154 - 259,0 | 149,5
3(.)S(Z) 65-200/18.5 | 3(.)P 65-200/18.5 | 160L | 18.5 | 25 IE3 20,12 (91,6 | 92,8 | 92,4 | 0,88 - 33,0 | 19,1 - 353,1 | 203,9
3(.)S(Z) 65-200/22 3(.)P 65-200/22 180 | 22 | 30 IE3 23,69 (923|929 929 | 0,90 - 38,0 | 22,0 - 361,0 | 209,0
3LS 65-250/30 3LP 65-250/30 200 30 40 IE3 31,94192,8]939| 94,0 | 0,89 - 51,8 | 30,0 - 459,0 | 270,0
3LS 65-250/37 3LP 65-250/37 37 50 IE3 38,97 193,01 93,9] 93,8 | 0,90 - 62,5 | 36,0 - 496,0 | 288,0
3LS 80-160/11 3LP 80-160/11 11 15 IE3 12,15|87,4 1898 | 91,2 | 0,89 - 19,7 | 114 - 179,3 | 103,5
3LS 80-160/15R 3LP 80-160/15R | 160M | 15 20 IE3 16,46 191,01 91,3] 91,9 | 0,89 - 26,7 | 154 - 259,0 | 1495
3LS 80-160/15 3LP 80-160/15 15 | 20 IE3 16,46 | 91,0 | 91,3 | 91,9 | 0,89 - 26,7 | 154 - 259,0 | 149,5
3LS 80-160/18.5 3LP 80-160/18.5 | 160L | 18.5 | 25 IE3 20,12 (91,6 | 92,8 | 92,4 | 0,88 - 33,0 | 19,1 - 353,1 | 203,9
3LS 80-200/22 3LP 80-200/22 180 | 22 | 30 IE3 23,69 (92,3929 929 | 0,90 - 38,0 | 22,0 - 361,0 | 209,0
3LS 80-200/30 3LP 80-200/30 30 40 IE3 31,94192,8]939| 94,0 | 0,89 - 51,8 | 30,0 - 459,0 | 270,0
3LS 80-200/37 3LP 80-200/37 200 37 50 IE3 38,97 193,01 93,9] 93,8 | 0,90 - 62,5 | 36,0 - 496,0 | 288,0
3LS 80-250/37 3LP 80-250/37 37 50 IE3 38,97 193,01 93,9| 93,8 | 0,90 - 62,5 | 36,0 - 496,0 | 288,0
3LS 80-250/45 3LP 80-250/45 225 | 45 | 60 IE3 47,49 (932|946 | 94,8 | 0,92 - 74,5 | 43,0 - 633,0 | 366,0
3LS 80-250/55 3LP 80-250/55 250 | 55 | 75 IE3 58,30 | 93,6 [ 94,5| 94,4 | 0,90 - 93,5 | 54,0 - 935,0 | 540,0

501

=TT

EBARA PUMPS EUROPE S.p.A.



3 SERIES

50Hz

Rev. AH

CENTRIFUGAL PUMPS

TECHNICAL DATA

NOISE DATA 3(.)M

Pump type
. Loa- dB(A) *
Single Phase Three Phase
3(.)M 32-125/1.1 M | 3(.)M(Z) 32-125/1.1
3(.)M 32-160/1.5M | 3(.)M(Z) 32-160/1.5 <70
3(.)M 32-160/2.2 M | 3(.)M(Z) 32-160/2.2
- 3(.)M(Z) 32-200/3.0 71
3(.)M(Z) 32-200/4.0
3(.)M(Z) 32-200/5.5 75
- 3(.)M(Z) 32-200/7.5
3(.)M 40-125/1,5M | 3(.)M(Z) 40-125/1.5 <70
3(.)M 40-125/2.2 M | 3(.)M(Z) 40-125/2.2
- 3(.)M(Z) 40-160/3.0 71
3(.)M(Z) 40-160/4.0
3(.)M(Z) 40-200/5.5 75
3(.)M(Z) 40-200/7.5
- 3(.)M(Z) 40-200/11 80
3(.)M 50-125/2.2 M | 3(.)M(Z) 50-125/2.2 <70
- 3(.)M(Z) 50-125/3.0 71
3(.)M(Z) 50-125/4.0
3(.)M(Z) 50-160/5.5 75
3(.)M(Z) 50-160/7.5
3(.)M(Z) 50-200/9.2
3(.)M(Z) 50-200/11 80
3(.)M(Z) 50-200/15
3(.)M(Z) 65-125/4 71
3(.)M(Z) 65-125/5.5
3(.)M(Z) 65-125/7.5 75
3(.)M(Z) 65-160/7.5
3(.)M(Z) 65-160/9.2
3(.)M(Z) 65-160/11 80
3(.)M(Z) 65-160/15
3(.)M(Z) 65-200/15
3(.)M(Z) 65-200/18.5 83-82
3(.)M(Z) 65-200/22
3LM 80-160/11
3LM 80-160/15R 80
3LM 80-160/15
3LM 80-160/18.5 83-82

* Mean value of several measures at 1m distance around the

pump.

Tolerance * 2.5 dB.

=TT

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA 50Hz
Rev. AH
NOISE DATA 3(.)S-3(.)P
Power
Pump type '\g?:;r kW] | e Loa - dB(A) *
3(.)S(2) 32-125/1.1 3(.)P 32-125/1.1 80 1.1 1.5
3(.)S(2) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 <70
3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2 90L 2.2 3
3(.)S(2) 32-200/3.0 3(.)P 32-200/3.0 100L 3 4
3(.)S(Z) 32-200/4.0 3(.)P 32-200/4.0 | 112M 4 5.5 <70
3(.)S(Z) 32-200/5.5 3(.)P 32-200/5.5 | 132S | 5.5 7.5 72
3(.)S(2) 32-200/7.5 3(.)P 32-200/7.5 | 1328 | 7.5 10
3(.)S(Z) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 2.2 3 <70
3(.)S(2) 40-160/3.0 3(.)P 40-160/3.0 100L 3 4
3(.)S(2) 40-160/4.0 3(.)P 40-160/4.0 | 112M 4 5.5 <70
3(.)S(2) 40-200/5.5 3(.)P 40-200/5.5 | 132S | 5.5 7.5 72
3(.)S(2) 40-200/7.5 3(.)P 40-200/7.5 | 1328 | 7.5 10
3(.)S(2) 40-200/11 3(.)P 40-200/11 160M 11 15 74
3(.)S(Z) 50-125/2.2 3(.)P 50-125/2.2 90L 2.2 3 <70
3(.)S(Z) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4
3(.)S(Z) 50-125/4.0 3(.)P 50-125/4.0 | 112M 4 5.5 <70
3(.)S(Z) 50-160/5.5 3(.)P 50-160/5.5 | 132S | 5.5 7.5
3(.)S(Z) 50-160/7.5 3(.)P 50-160/7.5 | 1328 | 7.5 10 72
3(.)S(2) 50-200/9.2 3(.)P 50-200/9.2 | 132M | 9.2 12.5
3(.)S(2) 50-200/11 3(.)P 50-200/11 160M 11 15 74
3(.)S(2) 50-200/15 3(.)P 50-200/15 160M 15 20
3(.)S(2) 65-125/4 3(.)P 65-125/4 112M 4 55 <70
3(.)S(2) 65-125/5.5 3(.)P 65-125/5.5 | 132S [ 5.5 7.5
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5 | 132S 75 10 72
3(.)S(Z) 65-160/7.5 3(.)P 65-160/7.5 | 132S
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2 | 132M | 9.2 12.5
3(.)S(Z) 65-160/11 3(.)P 65-160/11 160M 11 15
3(.)S(Z) 65-160/15 3(.)P 65-160/15 160M 15 20 74
3(.)S(2) 65-200/15 3(.)P 65-200/15 160M
3(.)S(2) 65-200/18.5 | 3(.)P 65-200/18.5| 160L | 18,5 25
3(.)S(2) 65-200/22 3(.)P 65-200/22 180 22 30 77
3LS 65-250/30 3LP 65-250/30 200 30 40 78
3LS 65-250/37 3LP 65-250/37 200 37 50
3LS 80-160/11 3LP 80-160/11 160M 11 15
3LS 80-160/15R | 3LP 80-160/15R | 160M 15 20 74
3LS 80-160/15 3LP 80-160/15 160M 15 20
3LS 80-160/18.5 | 3LP 80-160/18.5| 160L | 18,5 25
3LS 80-200/22 3LP 80-200/22 180 22 30 77
3LS 80-200/30 3LP 80-200/30 200 30 40
3LS 80-200/37 3LP 80-200/37 200 37 50 78
3LS 80-250/37 3LP 80-250/37 200 37 50
3LS 80-250/45 3LP 80-250/45 225 45 60 80
3LS 80-250/55 3LP 80-250/55 250 55 75 81
* Mean value of several measures at 1m distance around the pump.
Tolerance +2.5dB.
Sound pressure level of motor pumps with AEG
503

=TT

EBARA PUMPS EUROPE S.p.A.



EBARA Pumps Europe S.p.A. reserves the right to make modifications without prior notice: all specifications could be subject to change

EBARA Pumps Europe S.p.A.
Via Torri di Confine 2/1 int. C
36053 Gambellara (Vicenza), Italy
Phone +39 0444 706811
ebarapumps.epe @ ebara.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. GERMANY
Elisabeth-Selbert-StraBe 2

63110 Rodgau, Germany

Phone +49 (0) 6106-660 99-0

info.epde @ebara.com

EBARA Pumps South Africa (PTY) LTD
26 Kyalami Boulevard,

Kyalami Business Park, 1684, Midrand,
Gauteng, South Africa

Phone +27 11 466 1844
ebara.epsa@ebara.com

EBARA Pumps Europe S.p.A. UK

Unit A, Park 34

Collett Way - Didcot

Oxfordshire - OX11 7WB, United Kingdom
Phone +44 1895 439027
marketing.epuk@ebara.com

EBARA Pumps Europe S.p.A. FRANCE
122, Rue Pasteur

69780 Toussieu, France

Phone: +33 04 72 76 94 82
mktg.efr@ebara.com

EBARA Pumps East Africa

Delta Corner Tower 2, 13th Floor, Office 1308,
Chiromo Road, Westlands

P.O. Box 13796-00800, Nairobi

Phone: +254(0)722913119
info.epea@ebara.com

EBARA POMPY POLSKA Sp. z o.0.
ul. Dziatkowa 115 A

02-234 Warszawa, Poland

Phone +48 22 3909920
marketing.epl@ebara.com

EBARA Pumps RUS Ltd.

Prospekt Andropov 18, building 7, floor 11
115432 Moscow

Phone +7 499 6830133
mktg.epr@ebara.com





